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Task3
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The university has made a new parking policy in order to reduce the traffic problem on campus.
The new policy says that first year students are not allowed to use the parking lots on campus.
However, in the conversation the man disagrees with this policy. He says that freshmen only
constitute a small number among those who apply for school parking. To ban freshmen from
parking on campus won’t help solve the problem. In addition, he says that demands for school
parking far exceed the available space, so the school should consider converting the empty
space in front of the old football field into a new parking lot to meet students’ parking needs.

2
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The school has announced a new policy, requiring each student to complete at least 10 hours
of community service before they can graduate. In the conversation, however, the girl disagrees
with this policy. She argues that community service should be voluntary. Students should be
encouraged to take part in community service, not required to do so. So this policy is going to
cause resentment among students. Furthermore, she says that many community service
programs are located far away from the school. Most students do not have a car and public
transportation is not convenient either. So this new policy is not practical.
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The school is planning to close down its health center. It explains that because a new hospital
has been opened in the local community, closing down the school health center won’t have
much effect on students. However, the woman disagrees with this plan. She says that the closest
hospital is 15 minutes away by car, so it's still too far for most students, especially when they
are sick. Moreover, she says that most students go to the school health center for small illnesses
such as cold, fever or slight injuries. There is no need to go to a big and fancy hospital.
Sometimes the big hospitals don't treat these small ilinesses.
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The university announcement says that beginning from next semester, students are required to
have an individual meeting with their professor after every three exams. In this meeting, the
professor will talk about the student’s exam paper and the student can also ask questions about
it. In the conversation, the boy thinks that this is a great idea. He says that by discussing about
exam papers with the professor, students can know exactly why they’ve done some questions
wrong. A private meeting with the professor is also a great chance to ask the professor questions
on any topic the student may be interested in. Students often want to ask more questions but
they hesitate to do so when they are in a big class with other students.
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The student proposal says that the school should increase the number of seats in the school
theater to hold more students interested in watching plays, and the increase in ticket sales will
improve the theater’s revenue. However, in the conversation, the girl disagrees with this
proposal. She says that not many students go to the theater very often, and for most plays, the
current number of seats are enough. Also, the student does not think investing money in adding
seats will mean more revenue for the theater because adding seats is a costly construction, and
it will take years for the school to get the investment back.
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The reading passage is a special assignment given by the professor. It asks students to visit the
museum and write a paper about the Egyptian sculptures being exhibited there. In the
conversation, the woman likes this new assignment. She says that the trip to the museum can
allow students to observe in close distance the sculptures mentioned in the textbooks. This will
make the students more impressed with the sculptures they are studying. The woman is also
excited at the possibility of going to the museum free of charge/at a discount. She has wanted
to go to the museum for a long time, but she cannot afford the high admission charges.
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The school is going to hold an energy savings competition. The most energy-efficient students
in this competition will be rewarded with a pizza party. In the conversation, the woman supports
this competition. She says that this kind of competition can indeed promote awareness of energy
conservation among students. She also suggests that there should be sticky notes placed near
the switches which can remind students to turn off the lights when they leave. Furthermore, the
woman says that the pizza party is an excellent idea because even if students are not interested
in energy saving, they are interested in pizzas. So the pizza party will encourage students to
take part in the competition and start saving energy.

9
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A student has written a letter proposing that the university arrange a library training day to show
freshman students how to navigate the library research tools but the man in the conversation
dislikes the proposal. First, according to the letter, this program will provide an opportunity for
students to learn to use those great resources at the library. However, the man thinks that most
students do their research online on their own computers these days and have access to library
journals on the internet as well. Thus only a few people need to use those research tools at the
library. In addition, the student letter also proposes an assignment by the end of the training day
to make sure that all students have understood how to use the tools. The man in the
conversation, on the other hand, believes that freshman students are already busy with a heavy
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load of homework and it's unnecessary to give them additional assignments. For these reasons,
the man opposes the student’s proposal to the university.

10

[2ARE AN Y A B /S B WE 37 22 W T B s 4 B move 7 ) apartment. [54E & W]
PSR AT . — R IR AT DA OR 2 B8 11 P 0] 9 HA BE3E AT 22 HE . 2 N RROE - 1
—IF2, RZ NBEUNERMP AW IE — S 2 KR, NP2 — R 7o 2RV . R Bh T4
?T}Iitﬁg'/—&ﬂ‘ﬂ‘

The school announcement says that application for changing dorm rooms can only be made 5
weeks after the start of the school year. In the conversation, the man agrees with this policy and
gives two reasons. First, he says that this policy ensures that dorm rooms are allocated
reasonably so each student has a room. And the process of changing rooms is made easier so
dorm staff can spend their time doing other important things. Second, the man complains that
every year when the school starts, the dorm building is always noisy because many students
want to move to live closer to their friends. So this policy can help maintain a quiet environment.
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In the letter, a student has expressed his disagreement towards the university’s decision to
require each student to take at least one art course. The student says that he has already taken
a violin lesson outside the university so for him and students like him, they don’t need to take
any more art courses in the university. They can just submit their work for evaluation by the
university faculty. However, in the conversation, the woman disagrees with what the letter says.
She says that there are a range of art courses offered, so even if a student has taken one course
outside the university, he can still take another different course in the university. Moreover,
regarding the evaluation process, she says that it's not realistic to expect professors to have the
time to do so because they are all very busy.
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The student letter suggests that the school cafeteria should provide food that can stop hunger,
like sandwich, in addition to the beverages and cookies that are currently served. It also
suggests that the cafeteria should play more light music. In the conversation, the woman agrees
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with these suggestions. She says that first, the cookies and beverages currently available in the
cafeteria don’t really help much when she’s hungry. She needs to eat something that can fill her
up quickly. Sandwich is a good choice. Secondly, she says that the music in the cafeteria is too
noisy. Many times she has to leave the cafeteria and go back to her dorm to read.

13
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The school is planning to build a snack center in the school’s new science building because the
existing snack center is far away from the building. In the conversation, however, the man
disagrees with this plan, and he gives two reasons. First, he says that if this snack center is put
into use, then many students will take food into the classroom. This will disrupt classroom
teaching because there will be chewing noises, so the teachers will be annoyed. Second, he
says that it's costly [comments by doufujijingt.com: something about costly/expensive, not sure
whether it’s the food that's costly or if it's the construction of the snack center that's costly. Please
listen carefully to the conversation in real exam.]
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The university will no longer allow food in the theater and the woman in the conversation agrees
with this new policy. First, according to the university, disallowing food in the theater will improve
the audience’s experience during the show. The woman in the conversation agrees with this
because eating in the theater creates lots of noise and distracts the audience. For example,
there was a time when she was watching a show in the theater and someone was eating popcorn.
The sound of chewing prevented her from enjoying the performance. In addition, the university
believes that the new policy will make the theater a clean, garbage-free environment. The
woman in the conversation likes this idea too. She says that most people don’t really take out
their trash during the intermission. As a result, they just leave their garbage in the theater. For
instance, she remembers seeing someone leave their popcorn box in the theater after the show.
For these reasons, the woman in the conversation supports the new policy.

15
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The university is going to cancel its lecture series and the man in the conversation disagrees
with this new policy. First, according to the university, the attendance rate to these lectures is
too low, which is a waste of the university’s resources. However, the man in the conversation
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thinks the lecture series is great but the university hasn’'t advertised enough about these lectures.
The university has only put up information about the lectures on the website, which not many
students have seen. The university should hang posters about the lecture series everywhere on
campus. Second, the university says that professors, housing is a huge financial burden for
the university. Canceling the lecture series will save some money for the university. The man in
the conversation, on the other hand, thinks that the university can arrange accommodation for
the professors in the empty dorm rooms on campus instead of paying for expensive hotel rooms
for the professors. For these reasons, the man in the conversation opposes the university’'s new
plan.

Task4

1
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The reading passage introduces a term called extinction of behavior. It means people tend to
repeat a certain behavior when that behavior is rewarded, while they tend to stop the behavior
when it is ignored. The professor then gives an example. A mother takes her kid to a grocery
store. The kid wants his mom to buy him cookies but mom wouldn’t. So the kid starts crying and
screaming until his mom gives in and buys him cookies. Then the kid learns that crying is useful
and in the future, he would cry every time he wants to have something from his mom. Instead,
if mom ignores her kid and allows him to cry, the kid would learn that crying is not useful, and is
not likely to use crying as a way of getting what he wants.
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The reading passage defines a term called “false consensus”. According to false consensus,
people tend to develop the false perception that their ideas and opinions are in consensus to
those of others. The professor then gives an example. A survey was conducted asking students
whether they would discuss loudly in the library. Based on the result, the students were divided
into two groups — those who said yes and those who said no. Then, a second question was
asked to each group. The question was: Do you think the other students will act the same with
you? Surprisingly, the two opposite groups both express the opinion that students in the other
group will agree with them, which is clearly not true.
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The reading passage introduces a term called experience goods. Experience goods means
goods or services whose value or usefulness can only be known after they’ve been used. The
professor gives an example. He has a friend who sells DVD teaching material. The friend had
one DVD which was excellent for teaching. At first, few people knew about the DVD and so there
were few orders. Then the professor’s friend gave the DVD free of charge to every elementary
school in the local area. Teachers in those schools began using this DVD in the classroom and
found that students liked it very much. Then more and more schools began to order this DVD.
Finally, the DVD was sold all over the country.
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The reading passage introduces a term called altruism. It means that an animal would
sometimes do things that benefit other members of its species, even if it means reducing its own
chances of survival. The professor gives an example of a type of ground squirrel that lives in
California’s mountain areas. Its natural predator is the mountain lion. When a mountain lion
approaches, the squirrel who spots it first would immediately give out an alarm call, kind of a
high-pitched sound, to warn its companion to run away. But doing this would put the signaling
squirrel at a much higher risk of being eaten by the predator, because it has exposed its location.
However, the squirrel is willing to do so in spite of this risk, especially when its family members
are nearby. This apparently “self-sacrificing” behavior is a typical example of altruism in animals.
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The reading passage introduces a term called [mutualism], which is a kind of mutual relationship
in which two species benefit each other. The lecture uses the example of bees and flowers to
illustrate mutualism. Bees fly from flower to flower gathering nectar. At the same time, they help
to pollinate the plant. In this mutualistic relationship, the bees get to eat, and the flowering plants
get to reproduce. However, some flowers, such as some species of orchids, do not produce
nectar. But in order to attract the pollinator, they display bright colors which can cheat the bees.
In such relationship, the bees get nothing but the flowers are pollinated.
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The reading passage defines a term called internal competition. It means when a company
introduces a new product, this product may become an internal competitor with the company’s
existing product. Although internal competition may reduce the profit of a company’s existing
product, it is necessary for the company to remain competitive in the market. For example, the
professor used to work at an automobile company. The company had a best-selling car which
was small and ordinary looking. But then stylish cars became popular, so the company began
to manufacture a new, more stylish car. Once this car was introduced, sales of the existing,
ordinary cars declined. But this internal competition was necessary because the company had
to compete with other companies in the stylish car market.
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The reading passage introduces a term called “audience profile”. Advertisers need to create an
“audience profile” of their potential customers by gathering and analyzing their personal interests
and preferences. The lecture gives the example of a milk company. The company wanted to
promote its milk. First of all, it conducted a survey by asking customers at a supermarket to
complete a questionnaire. By analyzing the responses to the questionnaire the company
established that housewives and mothers are the company’s primary customers. These people
value the nutritional contents of milk more than its flavor. Then the company began to advertise
its milk, emphasizing that it is high in nutrition like vitamins. This advertisement successfully
boosted the sales of the company’s milk.
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The reading passage introduces a term called “opportunist plants”. Opportunist plants can
quickly establish themselves in a habitat after the native plants in this habitat are eliminated for
some reason. But when these native plants return, opportunist plants often disappear because
they cannot compete with the native plants. The professor gives the example of weeds and
pastoral grass. Weeds are typical opportunistic plants because they quickly invade areas where
pastoral grass has been eaten up by grazing cattle. But when the cattle leave these areas,
pastoral grass will soon grow back. Since weeds are at a disadvantage when they face
competition with pastoral grass for resources, the weeds will gradually disappear.
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The reading passage introduces a term called masquerade defense. It is a type of self-defense
that an animal employs to avoid being detected by its predator. The lecture further illustrates this
term using the example of catfish. The catfish lives under water and it often stays at the bottom
of the stream. To prevent being detected by a predator, the catfish often changes its body color
into grayish brown, pretty much like the color of dead leaves. Even when the catfish swims near
a predator, like an eagle or a big fish, this body color will make the predator think that it is floating
piece of dead leaf. Since these predators prefer fresh meat to leaves they will just ignore the
catfish.
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The reading passage defines a term called social facilitation. Please refer to reading passage in
real exam. ] It refers to the cooperation between animals in order to defend themselves against
predators. The lecturer further illustrates this term using the example of animals during migration.
When a group of animals begin their journey of migration, they may encounter dangers posed
by predators. In order to minimize the risk of being attacked by predators, these animals always
act together. For example, when an individual member of a group is thirsty and stops to drink
some water, all the other members of the group will also stop and drink water. After all members
have finished drinking water, the whole group will then move on. This is because there might be
predators like lions in the open grass. If an individual acts alone, it runs more risk of being
attacked.
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The term “tactile camouflage” refers to the ability in animals to hide themselves from animals
that lack eyes by attaching surrounding objects to their body. The professor uses the example
of sea urchins to explain how tactile camouflage can help them escape the predation of the
starfish. The sea stars do not have eyes and they use tactile senses when foraging. The arms
of the starfish consist of sensors which are able to detect surrounding prey. In order to avoid
predators like the starfish, sea urchins have developed the ability of tactile camouflage. They' re
able to use some of their tube feet to attach and hold small shells, rocks and other debris to their
surface. If the sea star senses the rocks on the surface of the sea urchin, it won, t be able to
recognize the sea urchin as prey immediately, which gives the sea urchin a chance to escape
from the starfish.
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The reading passage defines a term called tactile camouflage. [comments by doufujijing.com:
something like tactile camouflage, not 100% sure, please refer to the reading passage in real
exam]lt refers to a kind of camouflage that sea animals use to avoid being detected and being
preyed on by their predators. The lecture further illustrates this term using the example of the
sea urchin and its predator the sea star. In order to avoid being attacked by the sea star, the sea
urchin uses its tube feet to pick up and attach small rocks, bits of shell, or other debris to the
surface of its body. If a sea star encounters the rocks on the surface of a sea urchin, it may not
perceive of the urchin as prey quickly enough, allowing the urchin to escape its grasp.

13
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The term “signal redundancy” refers to a phenomenon that animals repeat and convey a
message through different sensory channels to other animals. In the professor’s example, when
deer are in danger, they usually display more than one signal alerting other members in the
group of potential threat. For instance, they will hold up their tails and wag their tails from side
to side as if they’'re waving a flag. The tail flag serves as a visual signal to other members. In
addition to sending visual signals, deer also send an auditory signal to alert other members of
danger just in case some deer aren’t able to receive the first visual signals in time. When a
predator is near, some deer will lift their forefoot and stamp downward with a great force, which
makes a lot of noise so that other deer can hear the warning and escape quickly.

14

1. [Appeasement behavior] are the ones animals perform to avoid fight and ask for peace
to make sure no harm can be occurred.

Wy f1. #8%2%445] Wolf packs are gregarious, they share food and hunt together, but if a strong
wolf takes food from others, the one that gets angry will want to fight. But instead of fighting, it
will lower its head and flat its fur, this is an appeasement behavior and the stronger wolf will let
it go.

The term “appeasement behavior” is a form of social behavior in which one party seeks to pacify
the aggression of another by taking an inferior social stance in order to avoid the escalation of
conflict. The professor uses the example of wolves living in packs to illustrate how appeasement
behaviors help some of the members survive in the group. Wolves are gregarious animals and
they usually live in packs, which means they forage in groups and share the food with each other.
However, there are times when a dominant wolf takes food from other less dominant wolves.
The less dominant ones can get angry and show gestures of starting a fight, which in turn irritates
the dominant wolf. Then, the less dominant wolves feel intimidated and begin to show some
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appeasement gestures such as lowering their head or flattening their ears. As a result, the
aggressive wolf would let it go and a conflict can be avoided.

Task5

1

[ WAEY BAEES Paper, #BURHERRM—A Y. RARPHIR GRS T H— A F5, 4RI
MNEFAEE T o TEBERAE— 0. Uk R] LRSI RAT LLEM ESEAS, yet the man
student thinks that it is too expansive, &AW #ELANE H W HA EVE? 55 - AMRkT %, I
AN —fRE M, A RUb A T, (B 2R A e T A A A . (BIX S paper FRABIAE T,
AT

The man’ professor has recommended the man a topic for his history paper, but a book in the
library on this topic was lent to another student and has not been returned yet. The man could
either buy a new book, or he could talk to the other student and try to share the book with the
student. | would recommend the boy to buy a new book. First, | think even if the other student
can lend the book to the man, it will not be until next week when the other student has finished
writing his paper. By then it would be too late for the man. He wouldn’t have enough time to read
the book and write a good-quality paper. Second, | think the man doesn’t have to worry too much
about the expense of buying a new book, because he can sell it once he has finished using the
book and get some money back.

2

— 24 F) time conflict, X2 career fair Y EEE3T T, AL, 777 LLE coworker %5
1o, {HEBKMARE, KN boss 18 nice NMEE MG fo RIS L) Xk, VRATLLYe 2 L%
EI L, ATPASeifiRte AT, ZEFEERAFRER, NP0 — R REE =K a
SILEE:

The student wants to attend a career fair, but he has to work in a restaurant at the same time.
He could either switch his work hours with a co-worker, or he could go to the career fair early,
spend only a few minutes there, and then hurry to the restaurant. | think it's better for the student
to ask a co-worker to cover his shift so that he can go to the career fair. This is because a career
fair is very important. A lot of companies will directly give offers to students after a short interview.
So if the student is looking for a job, then he should not miss the career fair. Also, | don’t think
he should worry too much about his current job at the restaurant, since this is only a part-time
job. I'm sure the student can find a much better job at the career fair.

3
(AZERAE] — 2B S paper f B — A4S, EREH . [ RINE]L Jrik—. state U 5 —&,
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The woman is writing a paper and she needs a book for reference. However, the book is not
available in the school library. She could borrow it from the State University, but it takes a few
days for the book to be mailed to her. Or she could drive to State University to get the book but
she needs to skip her class to do so. | would recommend the girl to drive to State University to
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get the book. This way, she can have the book much sooner, which means she could have more
time to spend on writing her paper. Also, | don't think to have the book mailed to the girl is a
good option because what if the package gets delayed or even lost? Then the girl would be in a
pretty embarrassing situation.

4
[AAWEY BB apartment, (HEABEBOSE XA T, M LA it 21
XA apartment —4F. [k 77E): LA 1, KA store 5k, {HE store WG % H. 2,
selling. &R LA, (H2MhBIEMER T EH KA.

The boy is moving to a new apartment. The problem is that this new apartment has already got
furniture so he has nowhere to put his own furniture. He could either store his old furniture
somewhere temporarily, or he could sell it. I would recommend the boy to sell his furniture.
Moving furniture is hard work, and storing it somewhere even temporarily will cost money.
Without proper care, some of the furniture might be damaged, for example, by moisture and
mold. If the boy sells his furniture, on the other hand, he saves the trouble of taking care of his
old furniture, plus he can get a sum of money which he can use later if he wants to buy some
new furniture.
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The girl has an appointment with her friend to watch a play tonight at the theater but she has
just realized that she has a very important biology exam tomorrow. The first solution is to take
the biology book with her, reading part of it on her way to the theater and the rest of it after she
comes back. The second solution is cancel the appointment and focus on studying for the exam
the whole night. | would prefer the second solution. Reading a book for an exam is not like
reading a casual magazine. You can't just read a little bit of it when you have time. You have to
focus on the book and read it continuously. So taking the book with her on her way to the play
is not an efficient use of time but a waste of time. Also, | think the girl's friend would understand
her if she explains that she has to cancel the appointment because she really has something
important to do for the night.

6
R B E R IE SR E S, (B, EaRiEA L, BHaRMNfEREE, BHis

http://item.taobao.com/item.htm?id=21092095168 +



1Y 18 B % (discussion). PiFPIRE, —FRTHMEIENHIAER, AERXIE 1. —FRBE AL
T NEEMIECE UL

The man has difficulty registering for an American Literature class because too many students
are applying for this class. He could either give up this class and select another one, or he could
wait until next semester or next year and then register for the class. | would suggest that the
man wait and register for the class later. | think if the man loves American literature he should
try every possible way to take this course, even if it means waiting another year, because if you
are interested in a subject you are going to study it with passion and diligence. On the other
hand if you carelessly select a class which you don'’t like, you won’t’ be able to do it well and it
will be a waste of time.

7

(AR ) B, aaoel], BAEZKE, AMERZR, HEEAHFE. [FERTTE] (1)live with
his friend Nick, Nick B 5K, B0 LLAT Nick BIR N —HEE K. B 5448047 §8 have no
time to do the paper. ZAEWHAETUMRMASGHRES, AN EEAZ 7. BEE T TEQR)
IR F B L ERFIER, il LLE#2I%E 5T live in professor's house and help to feed his
pets, XS AT L% focus on paper. {EARA— N ANSIRIGH, T H #4521 house is out of
town, fth &%, RATTE.

The man’s problem is that during spring break the school dormitory is closed but he doesn’t
want to go home because it is too far away and he has a history paper to write. He could live
with his friend Nick in his house, which is near school. Or he could live in the house of his
professor, whose family will be having a vacation in Italy during the break. | think it's better for
the man to stay in his professor’s house during spring break. This is mainly because the man
has a paper to write, so he needs to stay in a place where he can concentrate, and the
professor’'s house seems to be the ideal choice because the professor and his family will be
away for the holiday. On the other hand, if the man stays in Nick’s house, because Nick and his
family are around, there will be a lot of distraction.

8
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The man has broken a racket he borrowed from the gym and is supposed to pay 60 dollars in
compensation. He can replace the racket with a new one he has at home, or he could pay the
compensation using the money he has saved for a winter jacket. | would recommend the boy
go come home and bring the new racket to the gym. This way, the man wouldn’t have to spend
60 dollars, which is quite a big amount. And | think he probably needs the money to buy the
winter jacket he mentioned to get through the cold winter. As to the game he would miss if he
drives home, I think he can make it up by watching the recorded match on TV some time later.

9
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The man’s electrical keyboard was destroyed in a storm but he needed it for a concert
performance next week. He could either buy a used keyboard which doesn’t cost much, or he
could buy a new one using the money has been saving for his summer trip. | would recommend
the boy to buy a second-hand keyboard. A second-hand keyboard doesn’t mean poor quality.
With proper tuning and adjustment it can produce very nice sound. So the man doesn’t have to
worry too much about the sound quality. On the other hand, if he cancelled his trip with his friend
to save money, he would disappoint or even annoy his friends because they have been counting
on him for the trip and expect him to share some of the expenses.

10

[ 24 [K%] the student’s landlord is going to sell the house and there's a buyer who's eager to
buy it, he has only a bit over one week to move. [f##:77% 1 Solution 1: a friend of his is looking
for a roommate near his university, but he can't concentrate on his study. Solution 2: he can live
with his parents, but too far away

The man has only about one week to move out of his rented house because the landlord is
selling the house. So he can either live with one of his friends near the university, or he can live
with his parents far away from the university. If | were the man, | would choose to live with my
parents. | think living with one’s parents has many advantages. For example, it cuts your
expenditure on a lot of things such as meals, laundry, and electricity, etc. On the other hand, if
the man lives with his friend, he may get into some troubles. For example, since he shares the
room with his friend, the man may not be able to concentrate on his study while his friend is in
the room doing something distracting.

11
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The girl has made herself some sandwich for lunch, but she left it at home. She can either come
home to fetch the sandwich, or she can buy some food in the school cafeteria. | would suggest
that the girl buy some food from the school cafeteria instead of going home. This is because she
has three classes in the afternoon, so she does not really have time to go home and then come
back without being late for class. Secondly, | don’t think she should worry too much about eating
in the school cafeteria. The food there may not be so nice, and it may be a little expensive, but
eating there for just once won't cause any big problem.

12
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The man wants to drop a public speaking class because he thinks 15 students in a class are too
many for effective communication and feedback. He could either switch to an evening class, or
he could take the class in summer. | would recommend the man to switch to an evening class.
This way, there would be fewer students in the class so he can have the chance to practice and
to receive feedback from the professor. | would not recommend the man to take the summer
class because as he mentioned, he already has two classes in the summer, so having an extra
class may make him too busy and stressed.

14
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The man has organized a music band performance, but the place where he wants to hold this
performance has been rented to another band. So he could either share this place with the other
band, or move the performance to a new place. | would recommend the man to rent a new place
for the performance. I think if the man’s band shares the venue with the other band, they would
get only about half the time on stage, and this must be too short for an exciting performance.
Furthermore, | don’t think the new place is a problem. It's a bit small but a smaller place often
means better atmosphere. Plus the rent would be lower.

15
55 £ BRI university president JLiEMi, (HZ 45 % suit i 42 casual clothes.

The man has got a prize for his outstanding term paper and he is going to have a dinner with
the university president. The problem is the man is not sure whether he should wear a suit to
this dinner, or he should wear casual clothes. | would recommend the man to wear a suit, and
because he doesn’t have one he should purchase one immediately. Meeting the university
president is not like meeting an ordinary friend. It's a kind of formal meeting so it’s better to wear
something nice and formal. And | don’t think it’s that time-consuming to purchase a suit. Just go
to a store nearby and try on some suits you like. It takes half an hour at most.

Task6

1

CobeE B Y oHRES, AmFhEA . —FoR 7R ARG EZI, kil Stone. {HiX/M4> lack
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The lecture discusses two types of process in creating sculpture. The first process is subtractive
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process. This process uses solid material. The sculptor cuts piece by piece on the material until
some shape is formed. Subtractive process has a drawback: it doesn’t allow the sculptor to
amend the mistakes they make during the process. For example, when you sculpture a face,
you do the nose first and then the eyes. But then you don't like the nose. You have to get rid of
the whole piece. The second process is additive process. In additive process, the sculptor builds
the work, adding material as the work proceeds. This process allows mistakes to be corrected.
The main material used for this process is clay or plaster. For example if you make a nose and
you don't like it, you can simply cut it out and rebuild the nose.

2
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The lecture discusses two types of documents that you need to prepare in order to start a
business and to attract investment. The first document is a business plan. It is a long and
detailed description of how you plan to achieve your business goal. The problem with a
business plan is that it is too long, like a book, so investors usually don’t have time to read it.
The second document is an executive summary, which is a summary of the most important
points in the business plan. If investors are interested in the summary, they will continue to read
the business plan. For example, a friend of the professor was trying to start a company selling
office furniture. At first he had a business plan on but no one read it. Later, when he prepared
an executive summary, investors started reading the summary and some decided to give him
investment.

3
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It was thought that parents establish emotional bond with their babies by feeding them. But
according to the lecture, it is the warm and loving touch which parents give to their babies that
determines the development of mother-child bonding. The lecturer gives an experiment to prove
this theory. Several baby monkeys are divided into two groups. Both groups are fed respectively
by a dummy mother monkey and the baby monkeys can also touch the dummy mother. However,
the mother in the first group is covered by soft cloth while in the second group the mother is
made of metal wires. Later, it turns out that all the baby monkeys prefer to stay with the “cloth
mother monkey” rather than the “metal mother”, regardless of which monkey mother was feeding
them before.
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The lecture gives two examples to explain the impact of introducing new species to a new
environment. The first example is the “salty tree”. It was originally introduced into South Africa
to stabilize the local sand dunes there. However, these trees grow so tall that they block the
sunlight, threatening the growth of neighboring plants. The second example is the “bulk tree”,
which was introduced into western United States. This tree has a highly developed root system
which runs miles underground. It absorbs large amounts of water and it reproduced amazingly
fast, outcompeting other plants for essential water resources.

5
[/} %2 3= 75 ] spruce tree in north Canada and Russia Avoid injure [ (%2411 1) triangle shape
when heavy snow fall down, slide off to the ground instead of break the branch. 2) Dark green

colored needle leaves IR EEETERI R BRR, BEERE .

The lecture talks about the reasons why the spruce tree can survive the harsh environment in
North Canada and Russia, often characterized by heavy snow and little sunshine. The first
reason is the triangle shape of the tree. This shape allows the spruce tree to gather less snow
weight because the snow tends to slide off to the ground instead of accumulating on the branch
and breaking it. The second reason is the dark green color of the spruce tree’s needle leaves.
This color allows the spruce tree to absorb more light because the darker the color, the more
light is absorbed. This way, photosynthesis is much more effective and provides more energy
for the spruce tree.
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business network: a group of people join in one group, they meet and built up relationship,
friendship ,they can benefit from each other’s expertise, which means share each other’s skill.
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The lecture talks about the concept of business network, which means a network of business
people who often meet and build up relationships with each other. There are two ways a
business network can benefit its members. First, members of a business network can share
each other’s skills and expertise. For example, a restaurant owner who is looking for a financial
manager may get to know an accountant who joins the same business network with the owner.
Since members often trust each other, the owner can easily hire the accountant for the job.
Second, a business network enables its members to have connections with a larger circle of
people outside the network. For example, the same accountant may be recommended by the
restaurant owner to the owner’s friends outside their business network who are also looking for
qualified finance people.

8
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The lecture talks about two strategies that a company can use to achieve growth and increase
its revenue. The first strategy is used for the company’s internal growth. This is achieved by
investing money on purchasing new equipment or training employees. For example, Wilson, a
supermarket, wanted to increase its employees’ work efficiency. It could purchase new
equipment to increase the speed of payment process at the cashier. Easier and faster payment
could attract more customers, and therefore more revenue to the supermarket. The second
strategy, an external strategy, is to buy other similar companies. Take Wilson again. It could
purchase supermarkets in its vicinity. In this way, although the names of these supermarkets
would change, customers would still be going there. So Wilson would quickly enlarge its
customer base and therefore achieve significant growth.

9

[ 77 ] 1%+ observatory location [2 /Mik4%] F 25 could observe star clearly. (1)
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The lecture talks about two principles of selecting locations for observatories. The first principle
is to select a site where you can observe the stars clearly. So the best location is one that is
free from light pollution. For example, the city is not an ideal place for observatories because
the city is brightly lit at night, and there is a lot of headlight produced by vehicles. The second
principle is to select a site that is low in humidity. This is because if the air is too humid, then the
lenses of telescopes become wet which blurs imaging. So the desert is a very good location
because it is always dry.

10
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The lecture talks about a concept in economics called scarcity. Scarcity of a product often
encourages consumers to purchase this product quickly. For example, a store is selling jackets.
If the store owner tells its customers that a certain jacket will soon be out of stock due to high
demand, the customers will probably start buying the jacket instantly. Or, if you tell the customers
that this jacket is sold at a 50% discount, but only during the weekend, the customers will swarm
to the store on the weekend to purchase this jacket.
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In the lecture, the professor talks about two adaptations invasive species have developed in
order to successfully occupy a new habitat, including a flexible diet and high tolerance to
changes in the environment. In the professor’s first example, brown tree snakes from Australia
have been able to successfully invade Guam because they depend on a wide range of food.
When they move to Guam, they can survive by preying native birds in Guam thanks to their diet
flexibility. In addition, they face no predators such as lizards in Guam so their invasion has been
successful. The second example is the Asian carp, which originated in Asia and is able to
tolerate both warm water in Asia and cold water on the American West Coast. When they invade
the American West Coast, they can succeed because of this high tolerance to different water
temperatures.
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Animals that live in cold, snowy areas have to make sure that they can walk on the surface of
the snow without falling through. The lecture talks about two ways in which they can move about
on deep snow. The first way is to use their special body characteristics. For example, snowshoe
hares have big feet, and they spread the toes to cover a large surface on the snow. This can
prevent the feet of the snowshoe hare from falling into snow. The other method is to behave in
a special way. For example, the moss(not sure what it is, please pay attention to the lecture)
often walks on snow with others as a group. A lead animal will break a trail through the snow,
and the rest of the herd follows in its tracks. Since the leader in the front has “flattened” the snow,
the rest can walk on snow easily.
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The lecture talks about the benefits of being pessimistic. The first benefit is that it may get you
prepared for bad things that may happen. A pessimistic person may be more likely to take
preparatory or precautionary measures. For example, if you are pessimistic about the weather,
thinking that it may rain tomorrow, then you will take an umbrella with you in case it rains. Another
benefit is that being pessimistic can prevent you from getting too disappointed when bad things
do happen. For example, if you are looking for a job and you are pessimistic about it, then when
you fail to find a good job you will not feel disappointed or depressed.
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The lecture talks about the advantages of publicity over advertising for promoting a product. The
first advantage is lower cost. For example, a computer game manufacturer can showcase its
new game in a technology magazine. Compared with advertisement, this way of product
promotion is less costly. The second advantage is credibility. For example, the magazine can
feature an article about the computer game. This will be trusted by readers because it carries
the authority of an independent voice. So it is a good way to help the sales of the new computer
game.

15

Ut interview 73 PiFh, —F72 unstructured, —#j2 structured. unstructured Ht&BEAE [, 28
241152 city HER A, MR E improve, RAVRFEES . structured 5 /& N 7152 detail,
A RITAAA, 25612 )& A8 improve city, 33 )& Bk /E 4 improve.

The lecture introduces two methods of conducting interviews. The first method is unstructured
method. Unstructured interviews often use open-ended questions that don’t look for specific
information in the answer. For example, you can ask the respondent: what do you want the
government to do to improve our city? And the answers will vary from person to person. The
other method is structured method. In structured interview, questions are often close-ended,
which aim at eliciting specific information from the respondents. For example, structured
interview will ask: what must be done to improve the city? Building more bicycle trails, building
more parks or planting more trees.

VN E %
Task3
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[N Y B — D AR &5 EANNAZIR AL, Sz A IEXS 1 I a] . [t Ads—
Y B Bl BEEa iy, A EAE, mERERENHCERMENT,
TR L () i] DL E SRR, ANZR AT ] L
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A student has suggested that the school dining hall should stop playing television programs,
because they create high levels of noise. This annoys students who want to have a quiet
environment or who want to have undistracted personal conversations with one another. In the
conversation, however, the man disagrees with this proposal for two reasons. First, he says that
if students want to find somewhere quiet on campus, there are plenty of places to go like the
library. Second, college students are all adults. They should be mature enough to solve the
problems by themselves instead of asking the school for help.

2
WE: PWEE— oncampus BIFEH, RSN — AN, XFERFAA: 1. A ERIBE
WK, MMAEEZMANE. 2. 4MEIK light #1 sound RGHE L. ). BARNEZ, # 1. KT
T AT, BIEEATAMEE 20 IRATAZ PROFETIONAL 11, AT LABEA 32145, = B i SYSTEM
AL S YN =N

The university is considering moving the student theater center away from the campus to the
downtown area. It is believed that with improved light and sound systems, the new theater would
attract more audiences. However, in the conversation the boy disagrees with this plan. He says
that the new location for the theater is far away from the campus so few students would be
interested in going there. Also, he says that students are already used to the basic facilities at
the campus theater, so they might have difficulty operating such advanced and professional
sound and light systems. So the boy is afraid the performance in the new theater may end up
even worse.

3

proposal: a student suggest | FHIERRGIFESA1ME T, &4, FA 1L REHN—RERR
%, BEAK 2. r2 NMERIRTERK, #E 7T, XA LOs B BIEEEZRMEH. KEKR
Xf: 1 BEGIF)LNFRLEE paper, SXAHRZ 1, 2020 &, MHRERBEHSE. 2 DREE
UL

A student has proposed that no more than 10 books can be checked out at a time from the
school library. This is because students can’t handle more than 10 books at a time, and that
the fewer books are checked out, the fewer get lost. In the conversation, the girl expresses
disagreement with this proposal. She says that students have to write a lot of research papers
and they write for different classes. So they need to borrow many books, at least 20, from the
library at once for reference, so that they can write a high-quality paper. Moreover, she does not
believe that any books in the library have been lost before, so she thinks the concern about
books being lost is totally unnecessary.

4
[Rc@Esn ). #ReiH%I112 1E publish newspaper about art and entertainment, % information #f
Elweb EF. [FASEY: LAEARFRZ. #Hi 1. AHEEHIMEET .. ARMAEARKE, &
WHAIRIM B EAE, X T —8ENEERASIT . Bl 2. ZRMIZL newspaper reviewer &K
B, AT LL4E4: publish T .

The university is going to eliminate the campus event report and review section in the newspaper
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but the student in the conversation disagrees with this new policy. First, according to the
university, students can go to the university webpage and get the information they need about
these events. However, the student in the conversation thinks that students can get the
newspaper anywhere around the campus, but if the information is now only available online,
most students won’t really bother to check it out. In addition, the university thinks that barely any
student is willing to write reviews for those campus events, which makes it unnecessary to keep
the section in the paper. The student in the conversation, on the other hand, says that the
university should provide a small financial reward from their budget for students who write
reviews for these events and a lot more students will be incentivized to write reviews for these
events. For these reasons, the student in the conversation opposes the university’s new plan.

5

[UERE ] A B 2R B — ) theater #1245 — local group 24l HEZR . LiFab] (D)EN
=i theater B # R, WORALERRIBIFESE, M2 summer class 15523 1T LA R i8]
T A s it [R5 Y 2B FRE [T (1)bring entertainment to students, fEF=
SRR TS . BB B EB B FREAIRE SARIES), IR (2)the rental fees {8 R i35 il

%, seats are uncomfortable and old

The university is going to rent out the campus theater to local performers during the summer
break and the man in the conversation agrees with this new policy. First, according to the
university, barely anyone uses the campus theater during summer; local performers will have
the opportunity to perform in public at the theater and entertain students whoYe taking the
summer courses. The man in the conversation finds it a great idea because he remembers being
bored when taking the summer courses on campus. With this new policy, summer students will
be able to go to these shows and relax themselves. In addition, the university would like to use
the extra income to renovate and upgrade the facilities in the theater. The man in the
conversation also supports this. For example, a lot of chairs in the theater are broken and really
need to be fixed. Renovating the theater with this extra money will provide students with a better
venue to enjoy these performances. Therefore, the man in the conversation is in favor of the
new plan.

6

[FAEE]) FAEEEERICERE M2 7 graduation ceremony fHh 5, MALE M F lawn. [FE
H1] (1) beautiful environment and fresh air; (2) *L&EREEAL KD, EAEEK, HERIANZ. [
BB BERRRI(L) AMI—BAGEEZINAS, TRAIEE S AL stage 1(2) #LE 1451
R, ENERG, FETLUGESENNE, FHEERZANEZN.

The student letter suggests that the university hold the graduation ceremony out on the lawn
instead of inside the hall because the environment outside is better and the space on the lawn
is much bigger than in the hall. However, in the conversation the boy disagrees with this
suggestion for two reasons. First, he says that people who attend a graduation ceremony won't
pay too much attention to their surrounding environment. They focus on what's happening on
the stage. Second, he says that there is actually enough room in the hall, and its more
comfortable sitting on the bench instead of standing on the lawn. Moreover, since there are
cameras in the hall, some parents can watch live videos of the ceremony from a home TV
without actually going to the ceremony themselves.
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[SRGEAY RO T8 RS A Ry B A fE, #E%  F—2% paid student technician. X4
technician BAELETE &, N T KFEAME 24 DI HIRRS . BN, (£ 3R HEIE—3. [
A= L] Conversation: L)X 2N ER, FH—r. A —XEE S EIRN, B freeze
T, AN, RS KT R E A . (H AR R i — AN AT A MR TR R i)
B, — R PR T, B student technician AEFS I LRIX A AR, BUKEF T o BN, PRIK
—PHEE IR, FOERETFORS T, W8 L mikix AR .

The student letter suggests that the school’'s computer lab should create a sign-up system so
that students can book the time they want to use the computer. However, in the conversation,
the girl disagrees with this suggestion. She says that first, under this system, everyone should
finish using the computer within the booked time. When time’s up, they will be forced to log off,
even when they are in the middle of doing something. Their work will be interrupted and this is
neither convenient nor effective. Second, she says that some students may want to change their
time slots with others because they’ve come early or late, so this will create loud noises.

8

(ARGEA): KA R INE R HE RN E B & B 2 Bf A 1 MR ARUCE T . B4k 2, 27
AT DA RS 7o DS AR M. #h 1. R g EEs i, —4
FERX MR — DEIRRE, £S5 WA, 2IB8. Bl 2. HATREIERORD, W LART AR
IR HAR R, P A R IT 2R AR, (HIERIMAR BT, IRTEER, XA TH R ml A i 1R 2 4%

The university is planning to improve its shuttle bus service by providing more buses and more
optimized routes. It is hoped that students will find the new service more convenient and so
they won’t need to drive to school. The woman agrees with this plan for two reasons. First, she
says that the new bus schedule allows students to go from one building to another building much
more easily than before. So when they have two classes in a row but in different places, she
won't be late for class. Secondly, she says that the new plan will save her considerable amount
of money. She used to drive to school because there were few buses, but with the new plan,
school buses will run frequently so she does not need to drive. It means cutting down on her
petrol expenditure a lot.

9

FRATHE BN — RO 15 & B, 8 AR AR H T AR — MR HIAR,
HAuUh S5 E R A IR B IR 2 L in W] £ AL B 55 A 4y 55 R, IXRE AT T N BE 8 MUK B2 B4R
%o HLUCKABFEZ — e B RIS A I B) 5 A B R, A T S R EAT A

The school plans to ask experienced resident advisors to provide training for newly recruited
resident advisors. This training used to be done by the school’s housing staff. In the conversation,
the girl supports this plan for two reasons. First, she says that past resident advisors have
experience in managing affairs related with housing. For example, she used to be a resident
advisor herself, and she knew how to resolve conflicts between roommates. This kind of
experience is very valuable for new advisors to learn from. Second, she says that at the
beginning of each semester, the housing staff are extremely busy because a lot students are
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moving in. So if the past resident advisors can take over the work of training new advisors, the
housing staff can have more time and energy in assigning and preparing rooms for students.

10

[RGB A ) 225l top student N i% 32424

1. A DAk A A TR 42 5

2. XEEBEARAT B BT DR BRI

[Z475% 1. The man holds a negative idea.

1. RECZLALMFSE certificate 7, enough T ;

2. ALEIRE T 403G k4%, IEMEPTA chemistry students.

The school announcement says that scholarships will be awarded to top students of the school’s
chemistry major, in addition to the certificates that are currently being given. This policy will
encourage chemistry students to study harder and will ensure better allocation of the school’s
fund, including the recent $100,000 donation from a corporation. However, in the conversation,
the boy holds a negative attitude towards this policy. First, he says that the school of chemistry
is already awarding certificates to its outstanding students, which is motivating enough, because
this certificate is highly valued by prospective employers. Second, he explains that there are
better channels to use the school’s fund, such as improving the school’s old equipment and
facilities in the laboratory. This will benefit all students at the school instead of only a selected
few.

11

TR — AT, WTLRR A e — AR A AR, S— TG H
M. HEFRE. £ ——R¥REHEIE student center, 91T, 2T EHEMAHL &S, 2
— SR AR T N URECA R Z BT T, T AR R T

The school is planning to build a (dining hall/café) in the classroom building, so that students
have somewhere to go for meal between classes, and also to have their laptops recharged
there. In the conversation, the girl agrees with this new plan and gives two reasons. First, she
says that the existing school dining hall is in located in the student center. It is a long way from
the classroom building so it's quite inconvenient to go there between classes. Second, she says
that since most students bring their laptops into the classroom, they need to have them
recharged once in a while. The current classroom building is too old and is not equipped with
the facilities needed for recharging. So the new dining hall can solve the problem.

12

the announcement of change in career survive from the school newspaper. 2 changes: the first
one is students are required to meet their career advisor at least once per semester. (because
they can get more info il 2 XN IRk zh 7 —1%&); the second one is participating summer
internship program,JZ K E1E T A E RN LPHAEFRE, JEE—2iF 2 R%A %, HEPr 2%k
TR RRZ A HRE R, fosl A28 7 —A 28], Wi advisor i #5 Bhih #3 resume A1
5 cover letter. J5 X I S0 T F4E program, SR J5 b2 JE M intern 28 5% T full-time

The school newspaper has announced a change regarding the school career service. According
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to this announcement, students are required to meet their career advisor at least once per
semester, so they can learn more information about how to make career choices. The advisor
will also inform them of the opportunity to participate in a summer internship program. The
woman thinks it's a great idea and gives two reasons. First, she remembers her last meeting
with the advisor, which she found extremely helpful because she could obtain quite a lot of useful
information. The advisor even helped her write up her resume and designed a cover letter.
Second, as to the internship program, she says that her sister attended this program last year.
She began as an intern but was recruited as a full-time employee in the end.

13

[ZERciEa ) 5 At math building 1)—Z 2% cafeteria. Convert large empty room in
Maths building into small cafeteria. Student can eat between classes 2) install recharge outlets
in new cafeteria so student can recharge their laptops.

[(FAEEWRY LW, Ullri, I7ErZIR L7 78 student center, & building 47z, b i[H
Bk [El AR AL, ZRAEE—EIZRERAKZZ L, Ra XHE: RIEKRIA T, cafeteria AJ
LA recharge laptop XFFR A, 1 HIL AT DAAEARF 553 . (students always use laptops
during classes - allows students to recharge and do homework at the same time. Plus the Math
building is old.)

The letter suggests that a large empty room in the school math building be converted into a
small cafeteria, where students can eat between classes and also have their laptops recharged.
The girl in the conversation supports this proposal. She says that currently students have their
meals in the student center, which is quite far away from the math building, so students often
have to run between buildings for a quick meal. A cafeteria right in the building can save this
trouble. Also, students always use laptops during class, but the math building is quite old and
does not have enough recharge outlets. A cafeteria would allow students to recharge their
laptops between classes and the students can even do a little homework there.

14

[ R ] KB R B4t —/ student interview workshops %52 4EA12 i ) 28
1M HLiX /> workshops 2343 BUAR 22 /N Mk Ak o iy AREAS T b ATUCER 25 AN [A] (1) NSk d S AN (R 2%
4451 specific suggestions. [224xE]1 BAERZEX AR BH—: FRERKFEEHAREEA
interview suggestions 2554 . T AKX Fh X Il 55 4 0 Tt R ax se =24k . By DL RFRAT1 2
KA X A workshops. FRAITIR BA S EL A 123 58 competitive. A S A T/E. . K%%
AN B M AT 5 AT MR NG SRR KR . XA A e m Ll lead a job. Ft LKA &
FATTAT A3 B FEAS 73502 T Ath 1 4 78 FIB G 14T Wb TAE B IR 4F 2 FAR L TAEM A A 7 1
G, AIEF4. —3k wo 1] LA keep connecting with him 3£75 5 Z A0 K475 B kR EA
ERFE AT USRS — A TN SR E. 2471,

The school announcement says that beginning from next term there will be an interview skill
workshop offered for graduating students. The workshop will invite professional people to
simulate job interviews with students. In the conversation, the man likes this program. He says
that since other schools do not have this kind of workshop, the program can increase students’
competitiveness in the job market. Moreover, he says that apart from learning interview skills,
students can have the chance to meet and chat with professional people in different areas. They
can build connections with these people who may be their employers in the future.
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(ARSI ] 2R YT . 25— RGNS iF, 28 2 KIPBU e 2R RLY S oy
WARGF. H—, AR, %%wm%irim ATRAE ST, ERIRES AN,
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In this letter a student has suggested that the museum hire more guides and extend its opening
hours. The boy thinks that this is a good suggestion based on two reasons. First, the boy is a
history student, which makes him the right candidate for a museum guide. If he really gets the
job, he will not only share what he has learned with museum visitors, but also gain some valuable
work experience. Second, extending the opening hours into the evening is good news for those
students who are busy with their study during the day. Plus it's a good way to relax. So the
museum is going to attract more student visitors.

16

30 2% BB R TSR B R R, S5 PR, AR PR B G LA A e B
A AR . 1 BT EE MM IR O AT R R, I THSXAT, FAE(E R
B8 (R RSOOSR HOREAHIR A 21 0 FLE 747 2 52 1 LT B B H
EIHR B K TR

The reading says that the school will launch an environmental protection program in order to
raise the awareness of environmental protection among students. But this program will only
admit students who major in environmental studies. In the conversation, the male student
disagrees with what the reading says. First, he disagrees that students lack environmental
awareness. According to the boy, most students turn off the lights when they leave their rooms.
This shows that they are environmentally conscious students. Second, he says that this program
should be open to all students regardless of their majors, and for those who do not have the
professional knowledge, the school should provide the necessary training

17
DR, ARA L 2 A W SRR AR, IR IR i R, PR RIA ST BT W, AR
AR, LU CRIEE 1 50 7, Wridsettafoni. 2 B laz THENG, A A%,

The school is trying to increase the sales of newspapers on campus by introducing two
measures. It plans to reduce the price of newspaper, and to deliver the newspaper directly to
students’ dormitories. In the conversation, however, the girl disagrees with each measure. First,
she says that the current price of newspaper is already very low, at only 50 cents a copy. To
make it cheaper will not make so much difference. Second, she says that delivering the
newspapers to students’ dorms is not practical, because there are not enough manpower or
vehicles to do the job.

18
HNEV AR A computer lab, ANIHE computer lab K, HERANSEEIFA, FAMNERIT

http://item.taobao.com/item.htm?id=21092095168 +

—+



literature building B[4 7 & 1E 47 7] DL R8T lab.

Wr 77: woman [ A2 R EIXAN TR, ZFEMASSERAUETIRE], KovihH S HREA
(IR A BERE = SR HAMFEEL literature building X /MHb SR IE, literature (1274 288 1t
FALE R, AN LR R R T .

The university has announced that the lounge in the dorm building will be converted into a study
room equipped with computers. In the conversation, the man agrees with this change for two
reasons. First, he says that currently the lounge is too noisy because people watch TV there,
and since the dorm rooms are also too noisy students have nowhere to study. A study room can
solve the problem. Next, he likes the idea of having computers in the study room. Since not
every student has their own computer, and the library is closed when it's too late, students will
find the study room a quite convenient place to go.

19

[228:E%0] : The lounge in the dorm should be changed into study room. Reason 1: People
can go there to study. Reason 2: The study room should be equipped with computers. [2#%E
*Ji& ] The man agrees. Reason 1: It's too noisy in the lounge because people watch TV there,
and the dorm rooms can be noisy too because the roommate is always on the phone or listening
to music, and they have nowhere to study. Reason 2: Computers make it so much more
convenient to study, because not everyone has a computer, sometimes they have to go to the
library to use the computers there and the library is closed when it's too late.

A student has written a letter proposing that the university transform the lounge in the dorm into
a study room and the man in the conversation agrees with this proposal. First, according to the
student in the letter, the new study room will provide a space for students to read when they're
in the dorm and the man in the conversation likes this idea. For instance, the noise of the TV in
the lounge or the disturbances coming from their roommates talking on the phone makes it very
difficult for students to study in the dorm. The study room this is exactly what students in the
dorm need. In addition, the student in the letter suggests that the university should install a
computer in the study room. The man in the conversation also finds this useful because now
students who do not have a computer will no longer have to go to the library to use the computer
or will be able to use the computer when the library’s closed at night. Therefore, the man
supports the new proposal.

20

S K AR AL S b 22 AR T LLRTRE AR ) mentor 2289, FERSAME office L. AMUBHEZAE
3, FHHXNSER TR ) BRI 1 2ARORI T, A IR 2R AN P
office Z<F1 mentor 329, S Bt — student center T LL#E YL X 8], 2. A LARIAQ
1}, academic advisor I professor T fi#iXte(5 8. KE NA1E Bk confused.

The student has proposed that the school should create a program in which students can visit
their mentors off campus in an office environment for advice about their academic activities and
their future careers. In the conversation, however, the woman disagrees with this proposal. She
thinks that students are so busy that they don’t have time to visit their mentors off campus. Also,
there is a student center on campus which can provide just the needed advice. Secondly she
says that students are already receiving plenty of advice from their parents, academic advisor
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and professors. So getting too much advice from too many people is only going to make the
students confused.

21

[N ANBI] —224 3K coffee house. RAIX AN ARADE N RAS 2 — N2 i h )5 I
HITYREAE T [HAESEY WAEMPBAESRTIXEY: #HH 1. REAEAREIR,
{E G A i [A] £2%; 7€ coffee house 2<%, hang out or do some reading.# i1 2: after renovation,
EAHITAT AR LE, BFiRE T EATRIR 2 -

A student has written a letter suggesting that the school shut down the campus coffee house
because it is always empty and the lights there are too poor. In the conversation, however, the
girl disagrees with this suggestion. She says that although the coffee house is empty during the
day, that's because everyone is having classes, and more students come to the coffee house in
the evening, and they’ll get something to eat and meet with each other there. Secondly, the girl
says that the lights were poor before, but not now. After renovation, the lights at the coffee house
are as good as in the library. Every table has good lighting so it's a good place to hang out and
do some reading.

Task4

1

Behavior chaining, #t &AM EE/NZ T 11, HIEXEEEBRITR—E B A UM
lecture 1R fAj B, #t— M1, #ufh 3 %14 )L wash hands, REIL K, XHi&Z one action, %
I, 525, turn on the water, wet the hands, put on soap, wash hands, turn off water. & &

o, WM ET B O L ERK 7, D LRBREE ST T .

The reading passage introduces a term called behavior chaining, which means breaking down
the procedures of doing something into a chain of small steps, so that it is easier to learn to do
this thing. The professor uses his own daughter as an example. He tried to teach her 3-year-
old daughter to wash her hands. Instead of teaching it as one action, the professor broke the
procedures of washing hands into 5 simple steps, beginning with turning on the water, then
wetting the hands, putting on soap, washing hands, and finally turning off the water. Each day,
he taught her daughter one step only, and another step the next day. Gradually, her daughter
could perform all five steps continuously, washing her hands independently without any
instructions.

2

CAirfgpe] ke — Rl Vr2ahE AR, (HA2 T DURGRERRISY), fife e, [Huaeatl]
FOUXLARIE 255, WWIENZZ B, B R AR B CSRIES), (ERIERRM ISR RIVETER
SRR IR, HEAIRERsY), Chand. i e nl CAor RS A I A2 2 B

The reading passage defines a term called echolocation. For many animals that do not have
good vision, echolocation helps them to avoid obstacles and to locate and catch their
prey. The lecture then uses the bat as an example to further explain how echolocation works.
The bat preys on rats, which only come out at night. However, even in total darkness at night,
the bat can still detect and catch the rats. This is because the bat emits calls out to its
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surrounding environment. And by listening to the echoes of these calls that bounce back from
an object, the bat is able to identify whether this object is an obstacle, such as a tree, or a prey
such as a rat.

3

[ A fiRe ] X #F (stimulus discrimination). 5 —zh¥) @it sound, movement 25455K
1E stimulus, 534 MU B2 X (5 B, (HEARZ A ELIEBFE L, MATEASHZE T
NER MG R ShWAITTKER AR S &, RAB R 24, [#E%2601] lecture B, 4%
PAFESN ) 32 22 predator B9, Ui IEA 2 IrE W E iz s . A — a3y, HAb
XTSI E . XS & Y sound & 8—f#), over and over again. i HAth () %
H 11 more complex, like music. Bt LA#34 0] DU I X)X AN 75 8 R A B2 A 2 E A1 predator.
WR R BEHUE TR run away, R AREIA 2 escape, KNS THFEREE .

The reading passage introduces the term “stimulus discrimination.” It means that when an
animal gives off a stimulus, such as a sound or a movement, the recipient animal would
discriminate between different stimuli and respond in different ways. The lecturer uses the
example of the seal and the sea otter to illustrate this term. The sea otter is the major predator
of the seal. However, not all types of sea otters prey on seals. There is a difference between
predator otters and non-predator otters. Predator otters give off a single, monotonous sound,
while non-predator otters give off a more complex sound, like music. By discriminating between
the two types of sounds, the seals can quickly determine whether the otter in front of them is a
predator or not. They will only run away from a predator otter. Otherwise they will not escape.
This way they can save energy.

4

[ R 3281 A5 self-purification. [1 /M1 #RARE stream, J&HHHEE, WRA K&
IS B ) T AR E B T, L TERANGF, #FAE stream B self purification, HL[H ¥ bacteria
fE broke down ¥, XFEHLASRIIARIE R EH T .

The reading passage defines a term “self-purification”, which refers to the ability of the natural
environment to rid itself of harmful substances. Then the lecture uses the example of streams
running through forests that have lots of leafy trees. In the fall many trees lose their leaves. A lot
of these leaves end up in the stream and some of them may clog the stream. This clogging can
cause an unhealthy environment for the fish living in the stream. Fortunately, the stream contains
millions of bacteria that can break down dead leaves before they can accumulate and cause
problems to the environment.

5

[ %A% ] Insight learning. 7S E TGO E, SIIREAHALAR U ) B 5 2. IX /& insight
learning. (#3256 ). 2545 KJE% (Chimpanzee) WAl $RELEYIHIB T- HE— 5 R IX AN T 8
A& . HELIRE R KB L (top of its cage)H:#E, PRS2 — B2 Bhit R, —IRFIRE
EEW, KEHUAS| £ EAHE. Then it give up and sit down for awhile, &3t 2%, % i
RHEA box, TRAMFER— box HAEH T HZH, IERAE R, X FEFI—4 Box, (use
box on top of other boxes) B 2| &+ 11 & & LALE Al 2 F #E
The reading passage introduces a term called “insight learning”, which, in animals, refers to the
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process of working out a solution to a problem through observing the animal’s own surroundings
and applying what is available in those surroundings. The professor then uses the example of
chimpanzees to illustrate this term. A chimpanzee in a cage tries to reach a bunch of bananas
hanging on top of its cage. After jJumping a few times in vain, the chimp notices that there are
boxes in the cage, so it moves one box beneath the bananas and steps on it to try to reach the
bananas. Yet the bananas are still too high above, so the chimp starts to stack up a few boxes
so that it can stand on them to finally get the bananas.

6

2R ffERE: interest boosting: #EEH I —FiE TG (technique), BUEZECFIEHE, EHHIR
(R AR A 2 AR B AT D4R 22 K (connected with what the students are interested in), Z#4EmifE
AR B ME R BN, R, A E W Marie Curie fHIF4A
FANTHABGB A RGEE TR )1, ERMZE LR B AR T R ERANW R, U7 — b &
BFNGCE, T H R BLIE A T R AR popular S AR RS IT . BT LR 22 5% B I 11 [) 27 1l
THEE R E RN, R NRESGMED 7. M@ HBERE T R4 2 interest
boosting

Interest boosting is a technique widely used in teaching. It works by associating what students
are learning with students’ own interest, so that students will have higher learning
efficiency. The professor then gives an example to illustrate this term. The professor’s wife was
a chemistry teacher at a middle school. One day, her wife was introducing Marie Curie in her
class, but her students did not show much interest and were not paying attention. To boost their
interest, her wife showed the students an interesting movie about Marie Curie. All the actors and
actresses in the movie were very popular among students. Very quickly, the students began to
show interest in Marie Curie as a female scientist, and they listened very attentively in class.

7

[ %A %] attribution error. Ff & Ui AE AW HE N BIAT R BB, AATTR T4z 4R a4 T4
NI personality, TM3A % EEIANFEHIEMEE L. [EE22461] Bt S Esm—1 2%, B2
T, 2Pl chief $8 7Nk new course 1R @, chief 1R A4S A ATE S I UG AR 131X
KA RIXA R @, AR 2 R ZBE A ) announcement, 1B ##57 HS &R 3] 7 80T I

The reading passage introduces a term called attribution error. It means when people judge a
certain behavior, they tend to attribute this behavior to someone’s personality rather than to
external factors. The lecture then gives an example. The professor once attended a meeting.
During this meeting he asked a question to the chief of the meeting about a new course. The
chief was quite mad at this question being raised because he particularly announced at the
beginning of the meeting that this topic would not be discussed. So he thought the professor
was intentionally ignoring his announcement. In fact, however, it was only because the professor
was late for the meeting and missed that announcement. It had nothing to do with his intention
or attitude.

8
The professor talks about egocentric thinking in children, which means that children think other
people will see or understand the world in the same way like them. e.g. Achild was lead in a
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room with a small house in it. The child was standing in front of the house, which has a red
door. The researcher went to the other side of the house. When he asked the child:" what am
| watching?", the child answered:" A red door" which was exactly the thing that child was
watching.

The reading passage introduces a term called children’s egocentric thinking, which means
children have the tendency to believe that other people will see or understand the world in the
same way as they do. The professor then talks about an experiment to further illustrate this
term.In this experiment, a kid is led into a room with a small toy house in it. The small house has
a red door. The child stands in front of the house facing this red door. The researcher then goes
to the opposite side of the house and asks the child: “What am | watching?” The child answers:
“Ared door”, believing that the researcher should also see the same red door as he does, which
is a typical example of egocentric thinking.

9

[ 4%l f#RE ] contrast effect AMER B2 UL, NMIFER — 4R AAMBE, FAESZEEMAI—
FKARIZRVE LA, AR E T EANRIEATKMME. ANV AR, AEaZE—MARBA
A b, (#2281 2u%26 T A OB, HAOFERMREZERE T, —H6E TIRZ1EH
¥ smalland crap, R%AT . RRE R T —A~E 0 LLH] bigger and seems nicer. HiE TR T .
PRI /9 RO R 1T 7 5 b (HR S Attt 25, R 2 R/, MBI R BAT A #ETIA T, 1 I
KM BA A4 nice. Al &Nz E O — S EHRE LM,

The reading passage defines a term called contrast effect. It means people often judge the value
of something not based on its real value, but on how it compares with another thing. The lecturer
then gives an example. When he was young, the professor wanted to buy/rent a house. He
had looked at many houses but none of them was good enough. They were either too small or
in poor condition. But one day he found a house which seemed just the right one. Compared
with the houses he had looked at before, this one was much bigger and nicer. So he moved into
this house. However, after a while, he began to complain about it. He felt the house was still not
big enough to hold all the furniture, and it didn’t look as nice as it used to. So he started to regret
having purchased/rented this house and wished he could have been a bit more patient in the
first place.

10

[ 4iF##F).  emotion display CIHZERIAFM] -

It means the expression of emotion depends on the society in which we are live in.

[ #2244 ). The professor uses an example of his 4-year-old daughter. She had a birthday
party. Prior to the party, parents told her that she should hide her negative emotion when she
did not like the gift received. Her grandmother gave her cute clothes as a gift. But the girl did not
like it and felt disappointed. Before her negative emotion became too obvious, her mother said
the clothes were very cute. The girl suddenly realized that she should say thank you to
grandmother and she did that.

The reading passage introduces a termed called emotion display, which means that as social
human beings, our expression of emotions often depend on the social circumstances we are in.
In the lecture, the professor uses the example of his 4-year-old daughter when she was having
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a birthday party. Prior to the party, the girl was told by her parents that she should hide her
negative emotion even if she did not like the gift that she received. On the day of the party, the
girl's grandmother gave the girl some clothes as a gift. But the girl did not like it and felt
disappointed. Just as she was about to show her negative emotion, her mother came over,
saying that the clothes were very cute. This made the girl suddenly realize what her parents had
told her before, and she quickly changed her attitude and said thank you to her grandmother
instead.

11

commensal feeding WFI#IF LA R R, HAp—MEg X PRSI, 73— DAZRm
TR T —Fh A cattle I o X PRIz —Fp B . IXFH S EREE cattle. 2 cattle Mz E RS
5 SR Z BN R, cattle A28

The reading passage defines a term called “commensal feeding”, which refers to a relationship
between two species based on a feeding opportunity. In such a relationship, one species
benefits from the feeding opportunity while the other species is not affected by it. The lecture
gives an example of a kind of bird and cattle which together form a commensal feeding
relationship. These birds live near cattle because when the cattle graze, their movements stir
up insects in the grass. By following the cattle, the birds can have their insects to feed on and
the cattle are unaffected.

12

[ &1 f# ke ] diffusion effects. #f& (iS85 /N5 HEZH, (o ST R 4H e 381 5236 41 A0 T Hax A
SEIG R ARIMCT

[ e 2445 1— /N A2 EE research — > exercise 7] AN ] LLZZfif office worker [#)9% 57 . 32— building
SRR, HERM ex PR —HAMES IRA M —4H., SRILESS T, SLRANA N
SR R ZH g N BRI, AR IS ex fiR ASEIRT , &h SR FEZH B N 25N ex 1o SR R

The reading passage introduces the term “diffusion effects”, which often leads to the failure of
an experiment because there is uncontrolled interaction between the experimental group and
the control group. The lecturer provides an example to further explain this term. A research was
being conducted on the effects of a certain stretching exercise on the reduction of office workers’
stress. Subjects of the research include workers in the same office building. The workers were
divided into an experiment group who were told to perform this exercise regularly, and a control
group who were supposed to continue with their existing work habits without knowing anything
about the exercise. However, after a few weeks, the experimental group somehow “diffused”
information about the exercise to the control group, mentioning how refreshing the exercise had
been, so the control group also started doing this exercise. This defeated the original purpose
of the experiment and rendered it ineffective.

13

fast following : —MN2FHIF=M, H—KAFM) G2 G, B KA R B TE follow, H—K
KA = b, 2454k, (HRAFKAL, M — KRG .. W) #ER2e), H—
UK video game, EH B FWiEEME. — A EGHHHHEE B~ &, 7TLL Body control 1), HEF%
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A 2~ A] fast following, W4EH —FERUERK, R AL improve T 4ifi11) graphic quality. Jir LA
oA B 2 RSB AN AR I T .

The reading passage introduces a term called “fast following”. It means when a company
launches a new product, a competing company may follow up, creating a similar product quickly
afterwards, which may enjoy better sales than the original product. The professor then gives an
example to further illustrate this term. A company designed a new video game that uses the
body as the controller. For example, you can play a baseball game by swinging your arm. This
game became a great success soon after it entered the market. However, a new company
followed this game very quickly, creating an improved version of the game which is similar but
has better graphic quality. It turned out that more customers started buying the game designed
by the new company.

14

[ 4 ial R leader price, w24 AT ML YT, FT S RGUBIR R K, XAt T .. 5 AR
AL SN b, B2 SEHAMREY P DL SRIZ A i e, FL A e AR 2 LU 2841 ]
AR F RN AT LR, BT EmEGr, 37775, W2 BERK, L 7 M4, BE
A2 T IS JA 3RAT 1 5 e A o

The reading passage defines the term “leader pricing”, which refers to a pricing strategy in which
the seller sets one of its products at a reduced price in order to lead customers to purchase this
product, and at the same time stimulate their interest in purchasing the seller’s other products
as well. The professor then gives an example to explain how leader pricing works. The professor
worked in a supermarket when he was young. One day, the supermarket advertised that it would
sell its milk at a huge discount for a week. Seeing this advertisement, many customers came to
this supermarket. Of course, they did not only buy milk, but also purchased other products as
well such as eggs. Thus the supermarket made a higher total profits during that week.

15

emotional reasoning A Xt — 1S53 A B ] IR 2 5 Vi 0 = A7 140 500 S 1 2 Wi 22 25 4R A T
I evidence BEFAMFERIE T MFAWIIIA psychology lab T-AF i [F] 5 2 [A] LA
L) T2 1P AE A At LN B COR 32 0GH S s AR — AR ORI R R SN 30 3 Bl v 3 s l 3% 1) L T
IR 24 10151 /5 4 illustrate emotional reasoning

The term “emotional reasoning” refers to a cognitive process in which people form their
judgments based on whatever they're feeling in the present moment regardless of what the
evidence indicates. The professor uses his personal example to illustrate how emotional
reasoning occurs and how people deal with it. When the professor first joined the psychology
lab, his coworkers were hanging out together without inviting him. At the beginning, the professor
just assumed that he was unwelcomed in the lab because he was feeling so frustrated and
disappointed. He judged the incident based on his emotions without sufficient information about
what was really going on. Then, he changed his perception and decided to take the initiative to
get to know his coworkers in the lab. He dealt with emotional reasoning by collecting more
information about what others really felt about him and realized that it wasn’t because he was
unwelcomed but simply because they didn’t know each other well enough at first.
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[ &1Af##: ] natural consequence LI/ NEZMMAS 2, RACHEARED, HEMEEFENLS
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The reading passage introduces a term called natural consequence. It means when young kids
do something wrong, adults need not punish them because the natural consequence of their
behavior will serve as a punishment, and children will learn better from such consequence. The
professor then gives an example. He has a 5-year-old daughter who often leaves her toys in the
backyard of the house. Although the professor warns her many times not to leave the toys there,
she did not listen. One day, the daughter left the toys at the backyard again. This time the
professor didn’t help her clean up even though it was raining that night. The next day the
daughter saw her toys ruined in the rain, and she realized that she was wrong and did not leave
her toys in the backyard any more.

17

[ %A f#% ] Latent demand means that potential customers needs can be identified by the
companies thus better meet the needs of the customers. [#fE%441 ] Example: People used
large stereos to listen to music at the beginning, later smaller stereos appeared and people

started bringing them to outdoors to listen to music. Some companies sensed this latent demand,

and they figured that isn't it great if people could listen to music in public but privately instead of
playing it out loud? So they made tiny stereos with ear buds, and it was a huge success and
there was no competition back then.

The reading passage defines a term “latent demand”. It means the demand for a product or
service that is not yet available. By identifying latent demands companies can better meet the
needs of their customers. For example, in the past, people used very large stereos to listen to
music. Later, these large stereos were gradually replaced with smaller ones which people could
bring outdoors. Then, some companies sensed a latent demand. They figured that it would be
great if people could listen to music in public places, but privately instead of letting everyone
around hear the music. So they began producing and selling tiny stereos with ear buds. It turned
out a huge success because there was little competition at that time.

18

[ &R ): 01203, B (method of loci). fif B R 3% I image 1047 %% 78 FR) 7125
EIARTEEL vivid, Sfid. [#dA501): #2245 7/M1d names of planets [+, i names of
planets i A 845 —AMT BI04 7 41E— % student center & EFrEZIAIZ: EEUIRE from
your dorm to student center. The first thing you see is the front door, then the tree, then the
status in front of library then the building. f——%J5, Et4lto memorize names of planets in
solar system, make Mercury as front door, Venus as tree etc. 4%k /R5t do the same thing,
Fix 2 door, tree B H S [B{Z# names.

The reading passage explains a term called method of loci, which is a method of memory
enhancement which uses visualization to organize and recall information. The lecture then gives
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an example to illustrate this term. If you want to memorize the names of the planets in the solar
system, you can associate each plant with a sign post you encounter on your way from your
dorm to the student center to the dorm every day. Suppose the first thing you see is the front
door, then the tree, then the statue in front of the library and then the science building, and so
on, you can associate plant Mercury with the front door, Venus with the tree, Earth with the
statue, and Mars with the building, etc. This will help you memorize the planets in the right order.

TASKS

1

SRR, PRERER, EREUREEEK T AWNMERINE —PDRFERMN, HE
R, HOARSTAE B TR 80, WARMKINE, SRBEEEIVER T, fK—1F.
FAEAKREE, PRI S N RELA BT, K T AR T

The boy has an important interview tomorrow but he has left his suit at his parents’ place. He
could either borrow his roommate’s suit, or he could buy a new suit later today after he’s finished
his class. | would recommend the boy to wear his roommate’s suit to the interview instead of
purchasing a new one. The boy already has one suit. He only forgot it at his parent’s place. So
buying a new suit for just one interview is not that necessary. Plus the boy mentioned that he
needs the money to buy a bicycle. On the other hand, | think a suit borrowed from his roommate
will just do the job. It might be a bit large, but I'm sure the interviewer will not notice what he
wears too much. What truly matters is the applicant’s work experience and job abilities.

2

B AEBERR A paper, HAFEE museum A FE5ERL, 1 museum BIREIEXLT T, R
e 2, WRXANBAESH A RE B, wES THAEIN: (L)t paper FIZEERLE
BAZ, BAEWKHEIRRSAEEN; QAW EIRKZITER, 225 2% museum, HREPHZETAT L
FOREPZEL, (BAEMAGRER, FREZIM S .

The boy’s paper is due tomorrow. In order to finish this paper he has to go to the museum tonight
since it will be closed tomorrow. But he has a class the same night. He has two options. He
could either skip tonight’s class and go to the museum, or he could ask his professor for an
extension on the paper. | would recommend the boy to ask for leave from tonight’s class. | think
the boy can explain to tonight's teacher that he has a very urgent assignment related with his
paper. I'm sure the teacher will understand him and forgive his missing the class for this only
once. Also, the boy can make up for the missed lesson by borrowing other students’ notes
afterwards. If he asks for an extension, on the other hand, I'm afraid the professor will be angry,
and the boy risks being given a low score or even no score at all.

3

L A DR o 2 A AR A, (B R R R B IR T textbook 'SAESKE By 1) ARV R E AL
UichT7 Y 1. B bim i =5 £ text book, {HZE AWk 17X 1TUR, 1 HIEEM, Bl A fess
JUASNIF R, Pl DAt 3o B2 . (B VRS SO LT, S IR B R SR B R E W, 20 BRI
Bl X [0l B 45, KR — IR 2%t n] DL AR (g A ok, PO T deadline 1R ™%,
YUBT =T da AN n] DABEAZ A k)
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The girl has left her textbook at home but she needs it to do a math assignment which is due
tomorrow. She could borrow a textbook from her roommate. Or she could drive home early
tomorrow morning to get the book. | would suggest that the girl borrow the textbook from her
roommate. This way, she can make sure that she finishes the assignment by tomorrow. The
girl’s professor is very strict about deadlines, so she’d better hand it in on time. She may have
to work very late into the night. But | think by concentrating on her work and using her time
efficiently, she can finish the work sooner than she expected. You know how much faster one
can work under pressure! Maybe the girl can even catch a little sleep before her exam the next
day.

4

AR A S RISTE T 154 is locked out of room because her key is inside the
roomi#, Ih X525 paper. [fERTTR]): AR CEHMAMFITTR: T 1. el D2 EHE
library to read some material for her research. {H&, /<3 most of her relevant stuff are in the
dormitory. 7% 2. ®] LA roommate and get key from her roommate. {H she is afraid to
interrupt her roommate due to her roommate is in the process of rehearsal.

The woman is locked out of her room, but the material she needs for writing her paper is in the
room. So she could either go to the library to read some material for her paper, or she could
find her roommate and get the key from her. | would suggest that the woman try to find her
roommate first. This is because the library does not have what she needs. As she mentions,
most of the material in the library is not relevant. So she should get back to her dorm to read the
material that is relevant to her paper. Also, | don't think she should be too worried about
interrupting her roommate. Although her roommate is busy rehearsing, the girl can approach
her during the break and ask her for the key without causing too much trouble.

5

AW B NgE ARSIy, SRS TRMEEN, 47 AE%E school play. [fi#
RGTREY: ZEACH TN TER: TEL BoR 8 XK PEEHAHS. HRBAERE
RE T EAK, 1 HR R G, HRmMHE . 7% 2: L4 cancel AR, 45 4
. HAWAAEE, ERAKRIGEACEL T, £ mistake.

The woman in the conversation has promised a friend to help him with his chemistry review
tonight that she forgot about and has promised another friend to go to a school play. She can
either reschedule the chemistry review session to the next morning or cancel her date to the
school play tonight. In my opinion, the woman should still go to the school play tonight and help
her friend with the chemistry review the next day. First, as she already made promises to both
friends, it, s better that she comes up with a comprise between those two promises.
Rescheduling the review session allows her to keep her promises to both friends. In addition,
reviewing schoolwork is one’ s own responsibility and the woman isn’t obligated to help the man.
In other words, rescheduling with her friend still shows her willingness to help and her friend will
still be grateful. For these reasons, rescheduling is better for the woman.
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The girl has got an internship with a local newspaper and she is supposed to report to the office
this afternoon, which is her first day of internship. However, she is feeling sick, so she wants to
call her boss and ask him if she could start on another day. Or, she could also just take some
medicine and go to the office as planned. | think it's better for the girl to go to the office on
another day. She is sick and she needs to stay at home and rest. She can explain the situation
to her boss and | think her boss will understand her and let her start her internship a few days
later. However, if the girl comes to the office, she won’t be able to do a good job because she is
sick, and THAT will leave a bad impression.

7

R @ ] 24 B 1) radio club EHr, Mot MIEZm 17, HRARRE T (MRTR]Y L4
HOWHBENMFE: Q)EBEEE, HEAWKFA group meeting, i 7] 58;(2)ih = A B = A i,
= KAHE club member,{B 1 A 1B nice, it = %X talk to others, 7] LIEF|TE L A .

The girl is a member of the radio club. The club is recruiting new members tomorrow but the
one who is responsible for recruitment is sick and cannot come. So the girl could either take
charge of the recruitment herself, or she could ask her roommate for help. | would suggest the
girl to take over the recruitment affairs because I think to be a recruiter of a club, you need to be
familiar with the club affairs yourself. Otherwise you won'’t be able to explain properly what the
club is about, or what kinds of members it is looking for. As the girl is already a member, she
should be able to handle the recruitment job competently. Her roommate might be a nice and
talkative person, but she is not a club member so it’'s not a good choice to ask her to do the job.

8

(1AW Y B A RS T A —5k 4RI b RIHIB ST T8, RANEE S A i =XK1 band (1)
B, HEBAEE—A history paper due K, FrUA—/BFapge. [2 ANE] i w4
EE: 1 KBS, FXEE paper, HE2ERKIEY ., 2. ARFEIES, EESHAN. (RN
B B AR SR B ANMEIE & X FE—IR,  FTCUBATRERA ML R ILE] 17O

The boy’s friend has given him a ticket to tonight’s concert, in which his favorite band was playing.
But he has a history paper due tomorrow. So he could either write the paper after he came back
from the concert, or he could give up the concert and give the ticket to someone else. | would
recommend the boy to give up the concert. | know it's a rare opportunity for the boy to see his
favorite band in a live concert, but he has a paper which is due, and if you are late in submitting
a paper, you can face various bad consequences. If your professor is strict about deadlines, you
run the risk of failing his course completely. So on the safe side, it's better for the boy to finish
the paper tonight instead of going to the concert.

9
—ANREELAEME TR, A T SRR EIERE, HELER ERAAR, HRMELKT,
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Then man has borrowed some notes from his friend Tina. He is supposed to meet Tina in front
of the bookstore this morning and return the notes to Tina, but Tina hasn’t showed up yet. The
man can either go to Tina’s dorm and return the notes to her, or he could use the campus mail
service and then send a message to Tina. | think it's better for the man to go directly to Tina’s
dorm and give the notes back to her. I think the notes must be very important to Tina because
she needs the notes to prepare for her test tomorrow. Maybe Tina has something urgent to deal
with at the moment and so she cannot come. Because the man has borrowed Tina’s notes, |
think the man has the responsibility to give the notes back to her personally, even if it means
that he will be late for work.

10

listening: the man has a problem. this year is his calculus prof.'s first teaching. he isn't used to
his way of explaining... the prof. teaches too fast, he gets confused. two solutions: 1. he says he
can switch to another calculus section, but has to take it in the evening when he wants to do
homework or hang out with friends. 2. he also says he can organize a study group to discuss
what they learnt after class. but it'll cost extra time.”

The man has problem catching up with his calculus class because he thinks the professor is
teaching too fast, which makes him confused sometimes. In order to solve this problem he could
either switch to another calculus session which he thinks would be easier, or he could organize
a study group discussion after class so students like him can help each other out. | would
recommend the boy to take the second choice, that is, to arrange and take part in a group
discussion. First, | don’t think switching to another session is a good idea for the boy. If most of
the students are comfortable studying with the professor, so should he. So the problem must be
with himself rather than the professor, and this problem would still exist even if he switches to
another class. Second, a study group discussion can offer the boy many benefits, like clearing
up confusing concepts, easing the stress of homework and preparing for the next class or
upcoming exams, etc.

11

HA T2 Sam H st AR RS, ARG IX B IMIETE R T professor SRAAHL (FF L2 TRk
Ao {B& professor it 5 B A &5t cancel 7iX/ lecture. Sam [ CAE 7 WA gk /pi2,
—~& reschedule, HR2MAFZ2AE RN BEZIEMIGEET . B —Ftth B S &R,
EAEHED T Q&A T, PRIAANA IpE A1 2248 1) i

A student, Sam, works at the university movie theatre responsible for playing movies. This week
he has invited a professor to come to the theatre and give a lecture about a movie before it is
shown. The problem is that the professor has just cancelled this lecture due to emergencies at
home, so Sam has two solutions — to reschedule this lecture or to give the talk himself. | would
advise Sam to give this talk himself on the scheduled date instead of rescheduling it, for two
reasons. First, this lecture may have been advertised for a while, so a lot of students may have
already arranged their time for this. If it is rescheduled to another date, a lot of the students
might not be able to come. Secondly, | don't think Sam needs to worry about the talk if he is to
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replace the professor. He has been showing films for a long time so he should be familiar with
various topics related with films and popular questions the audience may ask. With a little
research | think he can do the talk just fine, and even be capable of handling that Q&A section.

12
(AR ] B4 22 airport (HASR EOREAB I AR A A LT
Ufgordil] 1, 22 bus, (HZAELE, WHAETHE. 2, kK, AMTMY taxi.

The boy is waiting for his friend to drive him to the airport. But this friend has not shown up yet
and there’ no message from him. In order not to miss the flight, the boy could either take a bus
to the airport, or he could wait a little longer and if his friend still hasn’t come, take a taxi. | would
advise the boy to take the bus immediately. First, | think the boy’s friend has probably forgotten
about the appointment since there’s no message from him, so there is no point waiting any
longer. Ataxi is quick of course but that would cost quite a lot of money and as the boy mentioned
himself, he needs the money to buy things for the spring break. Second, | don’t think the need
to change buses and carry a heavy suitcase is a big deal. The boy is already an adult and should
be able to handle this.

13

(224 Y 58 A48 3 ), fih B 2K 2= visit his parents, {H2RACHE EH OF iy Bk 748 5 fih B
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The man forgot to bring back his guitar after visiting his parents last week. But he has to play
the guitar in the band during the school concert this week. He could either borrow a guitar from
his roommate, or he could drive home and bring his guitar back. | would suggest that the man
borrow a guitar from his roommate. This seems to be the most convenient solution to his problem.
He can quickly get a new guitar and start practicing right away. The new guitar may not be as
good as his own, but with some tuning and practice | think the man can deliver a satisfactory
performance. On the other hand, if he drives home, it may cost him four hours back and forth.
Then he may not have enough time to write his paper.
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The qirl currently lives on campus but the rent is going up beyond what she can afford. She
could either leave campus and live with her grandma, or she could still live on campus and work
in the school library and make some money to cover the rent. | would suggest that the girl still
live on campus and work in the school library. This way, she could make some extra cash to
ease her financial burden. At the same time, working in the library may give her the chance to
access resources in the library more easily. On the other hand, if she lived with her grandma,
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she would be living away from the school. So she may have to travel quite a bit every day, plus
she would miss her friends a lot.
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The girl has made a reservation at a nice restaurant on Thursday, and has invited some friends
for a dinner together. But two of her friends cannot come. She has two options. She could still
hold this dinner without the two friends, or she could reschedule the dinner on Friday. | think it’s
better for the girl to hold this dinner as scheduled on Thursday. First, among all the friends she
has invited, only two cannot come. So it's not a good idea to reschedule the dinner just for these
two people. If the girl is sorry about that, she can invite the two friends on a different day,
separately. Also, as the girl mentioned, Friday is a time when everybody wants to go home so
it's not a good time for dinner anyway.

16
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The man’s roommate is moving out, so he has to find a new roommate. He could either invite
another person, his roommate’s friend, to live with him, or he could post an advertisement on
campus to look for a new roommate. | would suggest the man to try to find a new roommate. He
could do so by creating an attractive “roommate wanted” ad. He could post the information either
online or in the campus establishments. He will then receive many inquiries, and he can choose
someone who is neat and tidy, trustworthy and reliable. | think it is important to attract the right
candidate so the two of you can live together peacefully. So it's worth the time and effort.
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The boy is often late for an early morning class because the bridge he used to cross to get to
school has been closed. To solve the problem, he could either get up very early in the morning,
or he could drop this class and take it next semester. | would recommend the boy to try to get
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up early. The boy mentions that he has to work late at the library so he can’t get up early the
next morning. But | think whenever there is a conflict between work and study, a student should
always give priority to study. So | think he should give up the job, or try to rearrange his schedule,
so he can get home early. Also, the boy mentions that he likes his current teacher, so it would
be a pity to drop the class this semester.
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[2:/E 8] The mail was supposed to go to the seaside with friends, but Mary asked him to
go help her to move on a short notice because she has to move out by tomorrow. [f#EH 77 %]
1: Find someone to replace him. It might not work at this last minute. 2: Cancel his appointment
with his friends, but he has been planning to go for long, and later the weather will turn cold, and
they can't go to the beach any more.

The man was supposed to go to the seaside with his friends, but Mary asked him to help her
move out. He could either find someone else to help Mary, or he could cancel the appointment
with his friends to the beach. | would prefer the first solution. That is to find someone else to help
Mary. This is because the man has already got an appointment with his friends. It would be
impolite to cancel it on such short notice. Plus as the boy mentioned, they probably won't have
good weather if they change it to a later date because it is getting colder. So it's wise to stick to
his original plan. As to Mary, | think the man can explain to the situation to her. I'm sure Mary
will have other friends who can help her move out.
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The girl needs to do a project for her film class. The problem is that she needs to shoot a scene
on a sunny day but it is raining, so she may not be able to meet the deadline. She can either
re-write the play and move the scene into a building, or she can shoot the scene the next day,
when the weather turns fine. | would suggest that the girl shoot the scene in the building because
I’'m sure that’s only a minor change to only one scene of the whole play, so it would not make
too much difference to the viewers, who haven’t read the play anyway. Postponing the shooting
till the next day sounds good, but what if it continues to rain the next day? And since the deadline
is only two days away, the girl might not have enough time for editing.
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The man is staying on campus for the winter holiday, and because he is a basketball player, he

needs to use the school gym to exercise. However, the school gym is not open during the holiday.

So the man could either purchase a one-month membership in a local gym, or he could exercise
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by running outdoors. | would suggest that the man exercise in the gym. This is because he is a
basketball player and only a gym can provide the necessary exercise equipment he needs.
Running is good but it's not good enough for a professional basketball player. Plus it's cold
running outside in the winter. 75 dollars a month may be a little expensive, but the man only
needs to use the local gym for one month, so it’s affordable.
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The man, Jack, is supposed to act in a play tomorrow with his partner Sarah. But Sarah has
caught a cold and cannot come. So the man could either talk to his professor and ask for his
permission to reschedule the play, or he could ask Sarah to come despite her cold. If | were
Jack, | would talk to the professor and try to get his permission to postpone the play until Sarah
has recovered. This is because even if Sarah is willing to come, she won’t be able to perform
well with a cold. The play counts towards their final grade so they shouldn’t take the risk, let
alone it's a bit cruel to ask someone who is sick to still come and play. On the other hand, if the
man can explain the situation to his professor, saying that Sarah needs a few days to recover, |
think the professor will understand him and agree to let them act on a different date.

Task6

1
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The lecture talks about reinforcement in psychology. There are two types of reinforcement,
namely positive reinforcement and negative reinforcement. Both types of reinforcement
motivate a person to engage in a particular behavior but they work in different ways. Positive
reinforcement works by introducing something pleasurable. For example, by rewarding yourself
with good food every time you get up early, you are making yourself inclined to getting up early.
By contrast, negative reinforcement works by removing the unpleasant consequence from a
behavior. For example, if you don't like getting up early because you hate taking a shower so
early in the morning. You can take a shower at night instead. This way, you will not reject getting
up early, because you have removed the unpleasant consequence of it.

2

[R5 5 ). Marine animals protect themselves by producing lights. There are 2 ways: /7 =\
—. sudden flash bright light: Z%{5]:When they are under attack, deep-sea shrimps will give a
short period bright light to frighten the attackers, and deep-sea shrimps can escape. 5 1\ .
constant flash bright light: f1+: Since their predators always hunt animals by judging dark
shades, hatchet fish give constant light to make themselves seem like sunshine. By doing this,
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their predators can hardly find them.

The lecture talks about how marine animals use light to protect themselves. The first method is
to use sudden light to frighten the predator. For example, when a deep sea shrimp is under
attack by its predator, it will give out a flash of very bright light. This light only lasts for a very
short period of time but it is effective in turning away the predator. Then, the deep-sea shrimp
escapes to safety. The second method is to produce constant light. For example, the hatchet
fish produces constant light from its stomach which light looks like sunshine. By giving off this
light the hatchet fish can avoid casting a shadow beneath it and therefore can avoid being seen
by predators that look for shadows when they hunt.
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The lecture talks about comparative marketing. In an advertisement employing comparative
marketing, advertisers often mention a rival product, and explain why that product is inferior to
their own. However, comparative marketing has two drawbacks. First, it may make the name of
the rival product more memorable. For example, in an advertisement of a soft drink, the words
“tasting good” and the name of the rival drink are both mentioned. The result is that consumers
may associate good taste with the rival drink instead. Second, it may insult a rival competitor
and cause undesirable consequences. For example, when marketing shampoo brand A, the
advertisement compares it to brand B and claims that brand B makes people’s hair look terrible.
However, contrary to what advertisers hope, the consumers of brand B feel insulted by such
comment and as a result they will not use brand A.

4
two things ancient human learned to keep the fire burning. % —, technical knowledge. &Il A
sSkiese)a fire die out fBAREH AAL 2 WKL, E keep burning, HiZE add wood. iXs& Technical
understanding. %=, social skills W5 KK FERBEG, KK 7, HHE 7-E1FRHEZEN,
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The lecture explains how ancient humans managed to keep the fire burning. The first method is
using technical knowledge. For example, when ancient humans noticed that fire died out when
no wood was available to burn with, they realized that wood is the necessary fuel for fire and so
they added additional wood to keep the fire burning. The second method is to use social skills.
For example, ancient people were aware that if they all slept during the night without anyone
looking after the fire, it went out easiy. So they realized the importance of team work, taking
turns to guard the fire and prevent it from going out, so every one of them could be safe and
warm in the cold evenings.
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R S ) shKIgiE s 5 WM 75 S0t During long distance immigration, animals navigate
by two ways: 7572 1. by star: Ducks (E7f3) fly at night. Stars help them to distinguish their own
flying way. 777% 2. by smell: Salmons CKER5) track unique scent released by plants or
something in the river to get to specific sites for laying eggs. Another way that animals can use
to navigate themselves is using stars. For example, Salmons track unique scent released by
plants or something in the river to get to specific sites for laying eggs-

The lecture talks about how animals navigate during long-distance migration. The first way is by
looking at the stars. For example, by checking the positions of the stars when flying at night,
ducks ensure they are headed in the right direction and stick to the correct flying path. The
second way is by smelling. For example, salmons can migrate out to sea to feed, but when
spawning seasons come, they would return and lay eggs in the exact location where they were
born. They are able to find their home because they can track the unique scent released by
plants and other organisms in their birth stream.
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The lecture talks about two types of commercial barriers for new businesses. The first barrier is
financial barrier. It is caused by lack of fund in a company’s initial operation. For example, if you
want to open a new gym, you have to first of all spend a huge amount of money purchasing
expensive exercising equipment, and after that you can start making money. The second barrier
is customer loyalty barrier. A new business often has difficulty establishing a loyal customer base.
Take the same gym as an example. If near this new gym there is another gym which is well-
known. It has already got a large number of loyal customers who are used to going to this gym.
Then it's very difficult to stop them from going there.

8
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The lecture talks about two physical adaptations that have enabled some animals to run fast.
The first adaptation is related with the animal’s feet. For example, the cheetah, the fastest land
animal, has special feet with pads underneath its claw. The pads provide great traction and allow
the cheetah to run fast on rough surfaces, for example, on sands and rocks, without feeling any
pain. The second adaptation is for the animal’s legs. Fast running animals often have long and
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strong legs. Take the cheetah for example again. It has developed very muscular hind legs so it
can pick up speed incredibly fast. Having powerful legs also means that the cheetah has greater
length between its steps, allowing it to cover a long distance within a very short time.

9
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The lecture talks about two characteristics of migrating animals. The first characteristic is that
migrating animals often stay focused during their journey. Migrating birds don’t get disturbed
easily as compared with local birds. For example, local birds would fly to wherever there is food.
So they would fly here and there. By contrast, migrating birds tend to stick to their flight path all
the way until they reach their destination. The second characteristic is that migrating animals
tend to move in straight lines. For example, migrating sharks use geomagnetism to move in one
direction only, whereas local animals would move in all directions.

10
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The lecture talks about how birds can capture their prey in deep water. Two types of birds are
mentioned — birds that enter the water from flight, and birds that dive from the surface of the
water. The first type of bird uses gravitational force when diving. For example, when the brown
pelican spots its prey, it would fly high above in the air, and suddenly it would retract its wings
and plummet into the water. On the other hand, the second type of bird often takes advantage
of their streamlined body shape or parts. For example, the duck has short but muscular wings.
Using the force of its wings the duck can dive down into the water to catch its prey and then get
back to the surface easily and quickly.
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The lecture introduces two ways small companies can make their marketing advertisements
more effective. The first way is to concentrate on a small group of people. For example, a
computer repair company can put their ad in the science section of the local newspaper. This
does not cost much but it focuses on a very specific group of readers who are also likely to be
customers of the computer repair company. The second way is by practicing joint marketing. For
example, the same computer repair company can put their advertisement on the leaflets of a
very established computer store. This will effectively expand the reach of the advertisement and
bring the computer repair company more customers.

http://item.taobao.com/item.htm?id=21092095168 +



12

P LA S AN IS, — RS EN RILEZAE 2, 2806 TR ETR ER)T 5
AR TSR H R R BE 38 AN BOR BERSERRI = g & . 25772
LU EATAT AN DR, SRR SOl 2 % T AN DR H BT

The lecture talks about two methods advertisements use to make the audience accept a
product. The first method is to present the advertisement at the right time. For example, an
advertisement of children’s toys should be shown during a time when children’s favorite TV
programs on running. The second method is to create an association between the advertisement
and something the audience actually use in life. For example the professor’s daughter and her
friends have a toy they play with a lot, and a program featuring this toy is recently showing on
TV. So by creating an association between the product and this TV program, the advertisement
is more likely to appeal to children.
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J5¥ (improve the development and innovation ofhometown)
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2 mechanisms to make it hard for the predators to predict the next behavior of the animals. [
24451 1 Example 1: Squid don't go straight, and the speed is unsteady, they choose to move in
a zigzag pattern which makes it extremely difficult for the predators to anticipate its behavior.
Example 2: Squid can change into different colors, they can change from pink to blue then to
white, for instance, the predator stares at something pink but all of a sudden it changes into blue,
it confuses the predator thus gives the squid a chance to escape.

The lecture talks about two mechanisms animals use to make it hard for the predators to predict
their next behavior. The first mechanism is to change their pattern of movement. For example,
the squid usually moves in a straightforward pattern. But when the squid encounters a predator,
it would move in a zigzag pattern and at an unsteady speed. This makes it difficult for the
predators to anticipate its next behavior. The second mechanism is to change colors. For
example, the squid can change from pink to blue and then to white. This is confusing to the
predator. The predator first sees something pink but all of a sudden it changes into something
blue. While the predator is confused, the squid has a chance to escape.

15
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Excessive amount of salt gradually accumulates during the process of irrigation which is harmful
for plants. The lecture discusses two methods that are often used to deal with high
concentrations of salts in the soil. The first method is to use a drainage pipe which can allow
salts to be washed out of the soil. The second method is to grow salt tolerant plants to help
control salinity in the soil.
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environment. If there is a rock nearby the it, the current field will change. So the knife fish can
sense it and avoiding crashing into the rock.

The lecture talks about fish that have the ability to produce electric current. It explains how the
fish can benefit from this ability. The first benefit is that the fish is able to get food. For example,
by producing a current of electricity, the eel is able to shock and paralyze a small fish nearby
and then eat it. The second benefit is self-defense. For example, the knife fish often explores
dark areas under the water using its electric field for navigation. If there is a rock nearby, the
electric filed will change. The knife fish is able to sense this change and avoid crashing into the
rock.

17

[ eE F R Y mlvik EIRA I logo <21t E company IRz, [2 71 (D) —
toothpaste A 7] [1] logo &), XFEFILEFRFEM L ZAK, REANLIZN AT M) 2N
SEHE AR T AR S 2 KA ], B 74 old fashion HLiE24 logo, 4R 2 # A JLix 51

==
S Hn

The lecture explains two ways poorly designed logos can cause damage to a company. The
lecturer gives two examples. The first example is a logo of a toothpaste company. This logo
appears dark and muddy, which contradicts consumers’ expectation of toothpaste to make their
teeth white and bright. The company’s logo will therefore inhibit consumers’ desire to purchase
their toothpaste. The second example is a logo of a telecom company. The company uses an
old-fashioned telephone picture as their logo, but the company provides modern communication
service such as Internet service. So the logo is a bad representation of the company’s business
and consumers will not consider purchasing products or service from this company.

=E%
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The student letter asks for more funding for the school’s nature club, so the club can organize
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more activities to get students close to the nature and learn from it. However, the girl in the
conversation disagrees with this proposal. She says that many students don’t have the free time
for such activities. For those who do have time and want to see the nature, they don't really have
to join a club; they can simply take a bus to get to the place they like. With a student pass you
even don't need to pay for the ride. Secondly, joining a nature club does not necessarily mean
that you can learn from nature. You need some kind of guidance, like when you are learning any
subject, so a nature club does not really help much if it only gets you close to nature.

2

FE VAR POE BN PR A AS 8 ABEnE] 15 N, RSS2 K224 apply XEifEfE, =
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The school has decided to raise the limit of student number from 8 students to 15 students for
each class, due to increasing numbers of student registration and limited numbers of school
faculties. The boy opposes this decision for two reasons. First, he says that a bigger class would
lead to less communication between each student and the teacher, and also less chance for
students to participate in classroom activities. Furthermore, he argues that more students mean
more tuition fees, which could be used to expand the faculty, so the school should hire more
teachers rather than increasing class size.
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The announcement informs students of a change in the schedule of their physics course, which
will be shifted from morning to the evening. It is believed that this will solve the time conflict that
many students currently face because they have a part-time job in the morning. In the
conversation, however, the boy disagrees with this adjustment. He argues that more students
actually work in the evening so they only have time for classes during the day. He further explains
that students prefer to have their lessons during the day rather than in the evening because after
a day’s work, all they really need is time for relaxation, having fun with their friends, or simply
having a good night’s sleep.
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The university announcement says that all freshmen are required to live on campus. It is
believed that this will give freshmen better opportunities to form study groups, and also help to
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alleviate the parking strain on campus. However, the girl disagrees with this policy. She says
that when so many students live on campus, dormitories become noisy and distracting, which
makes it hard for students to form effective study groups. Also, she argues that when all
freshmen live on campus, they will occupy more parking space on campus, and for much longer
time. This will make the parking problem even worse.
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The university is putting limit on the amount of printing papers used in the computer lab. Because
students complain about the waste of papers and the printers often get stuck with papers.
However, the woman doesn't stand up for the policy made by the university. First, she argues
that students never intentionally waste papers. They actually can't tell what's the most useful or
important resource before printing. So they just print out everything in case they don't miss
anything important. Also, she points out that the current printing machines are outdated and
cannot work properly, and that is why papers often get stuck in the machine. If the old equipment

are upgraded to a more efficient one, there would be no more breakdowns due to frequent usage.
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attentive is better than do not have any class at all, *F T-1£2% & i i i M AR AN d, X
HREZ, P RMEERERY:, B2 N2 pay forit. RIRLEZNESE.

The school art department decided to reduce the student number of the sculpture class because
in this way, students can pay more attention to the teacher and the class funds can be saved at
the same time. The woman totally disagreed with the school decision for the following two
reasons: firstly, she thought that the school shouldn't deprive the students' right to attend the
class and this is more unacceptable than not paying attention on the class. Also, students are
willing to pay for the relevant material because they think it crucial to their art performance. All
in all, reducing the student number will be harmful for students' development.

7

B2 N BB TR, ERIEHIRE 1 RINE 2 RITEIEKE 3 K.

Wr 71 B B A M A ARE A AE . LA AR 55—, A RO%E— M RAT KRR,
ANRAER G YIRS —Bmeti. % —: professors FWIKEIEN:, ¥4 N AL make an
appointment with them.

A student has written a letter to the school asking for an extension on their end-of-term review
period from one day to three days, so they could have more time to prepare for their tests, and
have more discussions with their professors about their questions. In the conversation the girl
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does not like this idea. She says learning is a long-term process. You cannot make sudden
progress just by working hard on the final days before a test. Furthermore, she says that many
professors would be busy at the end of the semester, so it would be difficult for students to make
an appointment with them if they have a question to ask.

8

2K policy ibFTA K —# A 44— 3] baxter dormitory, HABAEZL RS Hfirg 4, HEEE
EREEAR T R—AE R, SPEFENE DL — 22, BiFEdK—. FERERILE
BB RS E: L488ME A, SFEMK—/Nefz—ARER] ) 8 R IRAR i,
DA NE TR B —RREE C R 2. 2 LIRS MR 2 HAh g a0, Al AN B
PR BT T A b ) LSE K mT DA IR IV TE 2 AR 76 .

The university has announced a new policy asking all first-year students to live in Baxter
dormitory, and second, third, fourth year students to live in the new dormitory. This policy is
intended to make freshmen better adapt to life on campus. [s-keygen-answer-201101080]In the
conversation, the boy, who is a senior student, agrees with this policy. He says that when all
freshmen live together, they will be able to talk to each other more often and solve problems
together more easily. He remembers his freshman year when he had to live with senior students
and comments that it was not a nice very nice experience. Furthermore, he says that for him,
having to move to the new dormitory is not a bad idea at all because he gets to live in a bigger
dorm with better facilities.

9
Pl A A FRE, BRER 4 UL EESIRIRII 2> W) B E R, RIEREZ Ak 2
B3, FEAAEMUREE, MIEGNEEAAA B CIE, FREMEN AT .

The school has announced a new rule regarding class attendance. According to this rule,
students who have missed four or more classes for a course will receive a very low grade on
this course. In the conversation, the students think that in spite of its good intention, this new
rule will probably not work very well. The girl says that most students would not miss as many
as four classes for a single course. For example, she would only miss at most 2 or 3. Also, many
professors have their own rules on class attendance so the new rule by the school won't have
much effect on the students.

10

[ATHEY: DR ETIE ToRE — N ERATHE, BBCKY M to build an electronic board at
student center.
4k 1. Make student get information about coming up events easily rather than acquiring news
at different places on campus by posters
GFhb 2. et SR, PRUOARE BRI T .

[ZAWE ) @A RFTIXAN TR, itis better to get news from different locations on campus.
il 1. They are everywhere (more than one place). If they do not go to student center, they
will miss the notice.z$ 1 fif /£ & -5 1HE 24k, T L didn't miss a show / concert 451
P 2. Even though the new bulletin board was established, students will still do posters
because of it is convenient (3 A £#£%2 information, #8555 € post HK).
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A student has made a proposal to the school that it should build an electronic board at the
student center. The student explains in his letter that this will allow students to get information
more easily, and the school would also look a lot nicer without posters everywhere. However, in
the conversation, the girl disagrees with this proposal. She says that students are used to getting
information about school events from different places on campus. If the electronic board became
their only source of information, students might miss a lot of events such as a show or a concert,
because they do not go to the student center every day. Secondly, she argues that even if the
electronic board is available, students would still continue putting up posters. This is because to
get information advertised on the electronic board takes more time. It requires students to submit
their request first and wait for the information to be displayed.

11

R R AR 38 0 2 A T R — A7 k0 44 ‘T director 43 4E 45 spring musical, LART#R
A, AL 1. XA EALE AR theatre 3 S A HE 3R], 2AETTLISERIRZ .
UfAb 20 IXALHEI4 ST AR G R 2 22 B WAE il 222808 ) oA o kit &il. #h 1, 1X A7
FE B AR, ARl EIEHE, — & R ek — K, %I [E pay attention 53 84 2 A HEE
#4140 the university should & %24 S . AR NS INIX B, WhiH.0 3 S sing, dance #5%
HECOH R Bl 2. BRI FEHAE L, (HHRTEAAANE N 5097 b 5 A # AT i 1%
AT, TP SRR SR 2 24k E R

The university newspaper has announced a plan to hire a famous director to help with the
school’s spring musical, which used to be directed by students. It is believed that students could
learn from this director, and more students would be attracted to the musical because of this
director. However, in the conversation, the girl student opposes this plan. First, she says that
the director is a very busy person, and can only come to the school once a week. He won't be
able to put much time into the spring musical. So it's better to hire a student to do the job. Second,
she says that this director is only well-known in his own filed. Many students have never heard
of him, so he is unlikely to draw many students to come and watch the musical.

12

BlEEER oy MWASAETFIE, FRSESR A | first year students #f attend seminars in the students
center. —/NE A RERL T B2 AR AR IGIE R, campus life. 5 R R IX Rl seminar B8 #5 B2
AFE T socialization. Wr /73 4r: BEAERAE, BABRIEOM S, SN bR MSE
WIl_E R I, RORAANIE N AARE B AR S, T WA R K E 2 reading, 45 R4t reading #E# final
exam [WET—RA M, B _AEHZ, AN seminar 587 B2 28 T8 4 (1R 24 FHALS BB (1)
A%, Phlnfd 244548 3 T Ffth—FEXT 3 SR EOSE N, inaddition! IARASFIM B N BAH 56
), Hbin T2 engineer i2244E

13

WENE: FRHAGEZE— housing office for off-campus. %t il 4 [F & s SR 7 JR K . 1)
& on-campus fJ dorm £.4 overcrowded T .2)& ¥ AE AR A IR IX ) office 1E 4775 BihA].
[ S 25 A A s
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CARGEA): R T AR T S AN iRl SRV s A e DA Y W 7 ese sl
KT, B, WRANERE, FEMOOE, RIS B 2 ARt TR, 4
SJTEMAR RIS R, IEHEBARERRAM A0, B, SRS BHN, XEET 2 %E0]
PAAFHAE O B ANES o 55 P S b gl it 7 PR AT

The university has decided to allow students to hold concerts in the university coffee shop. The
woman in the conversation thinks that it is a good idea. First, the woman, being a musician
herself and able to play the guitar and sing, thinks that it can provide students like her a good
opportunity to perform in front of a large audience without feeling nervous, plus it can help them
learn how to use the microphone and stuff. Secondly, as the concert is free, many students can
come and enjoy the music without worrying about the expense.

15

[ ATHEY AN NEEL 5K, ¥t student directory (college directory that has all the contact
information of students.) B ABANJ5 T cddt: 1. & F (Add photos of students) 2. #ilfE—4>
WA 7E 2630 W fI A (Put the directory on the internet) . [ 24453 i% 10 /7 B 53 A 34491 . 1. some
students may have the same name, photo helps students to find the right person. X4 FALF
F H student directory ™ A& Tl last name, 45 BA4T4H 7 &M, GBS T4 1L
T HFI, 2. Some students can't find the directory. 1R A\ —JF2#5k displace T A/NH, H
TEL R EE BE R WL T . (It is easy for students to find these information if there are
electronic version of the directory available online.)

A student suggests in the letter that the student directory could be improved in two ways. First
of all, photos of students could be added to directory and secondly the directory could be put on
the internet. The man in the conversation thinks it a good idea. First of all, some students may
have the same name, so photos could help students find the right person and avoid the
embarrassment of finding the wrong person as he did the week before. Secondly, as many
students are likely to misplace the little directory soon after the new semester starts, it would
be easy for students to find the information if there are electronic version of the directory
available online.

16

[ A48 ] —3 letter A KEAE computer tab #4111 sign-up sheet [J5 A1 Fi7EH computer
el paper FEEIRKIA], FRZ AT LR efficiency (24 ] L/ disagreed(1)fn 1 &
computer I [E] 2§22 4E inconvenient and low efficiency;(2)time slot, “#AEATHsk 2 £ Ak
loud noise.

A student suggests in the letter that the student directory could be improved in two ways. First
of all, photos of students could be added to directory and secondly the directory could be put on
the internet. The man in the conversation thinks it a good idea. First of all, some students may
have the same name, so photos could help students find the right person and avoid the
embarrassment of finding the wrong person as he did the week before. Secondly, as many
students are likely to misplace the little directory soon after the new semester starts, it would
be easy for students to find the information if there are electronic version of the directory

http://item.taobao.com/item.htm?id=21092095168 +



available online.

17

[ATHEY: — A AERVUEE IR O HAT S, RS, KAMRAE (sidewalkis
narrow), X417 ANRA L4, iSRRI E TR DX R ) AR O« — s T SR 22 4,
KNS 2 AR responsible A7 o 74— REFR R T TTE DN NANRE L EGANEM, KRS
JEANRSA] (waste of resource and time, if they bring security guard to take care of them.).

The student letter proposes that there should be a ban on cycling in the school, especially on
narrow sidewalks between school buildings. Those who are found to have violated this ban
should be fined. In the conversation, however, the girl disagrees with this proposal. She says
that cycling in the school is actually not a dangerous activity because cyclers are all very
responsible and careful. Also, she thinks that it is a waste of both resources and time to hire a
security guard to patrol the campus and prevent

18

[MANEW) —DMPAESPREEARIVERFRM add a three-day fall break just before
midterm in each fall semester. XFEHA B AMFAL: 1. students can relax themselves during the
break. 2. they can get some time off to prepare for the their projects. [Z#AERE). BA =
e . PR 1. this suggestion is especially good for the first year students who needs some
time to get adjusted to their college life. Both the way to live and the study pace are different
from that of a high school. Students, especially for 1st year student. 1] F]Hix = K {F ] to relax.
H 2. b midterm R4, —ME#IZE JLT] exams, A K% they will also have so many projects
or research papers to complete. 2~4:417] use the time to do assignment and research >k finish
their projects and papers. The male student gives an example of his history class.

In the letter, a student makes a suggestion of adding a three-day break from classes just before
midterm in each fall semester so that students can relax during the break and have some time
off to prepare for their upcoming projects. The man in the conversation agrees with the student’s
suggestion because first-year students are still adjusting to college life as both a way to live and
how to perform in a new academic environment because the study pace in college is different
from the pace in high school. Also, with so many exams to take and so many projects or research
papers to complete, students are quite busy during the semester. They could use the suggested
three-day break to work on assignments and finish their projects and papers.

19

[ #5850 ): announcement 245 1HRIZ 4 library expansion: & 451E 514 /) student center
it Y new library, M increase library space. 4t 1. A 5 £ %5 A2 HE £ 4 shelves.
PR Z 4K materials. 474k 2. EIE 2 2R, hFAEFEZMA A [(FAESE]: B4R
Xfo PR 1. ZEKNIZA technology FEmdEd 2K HIELLTTA space, s TR Rk
electronic copy 77 # i B r] DL 2510 . BEA 2. [E2#A119% 25 student center B3], REg %
BT, RN AR O RS E g 2D,

The school announces that it is a planning to expand the school library. It plans to do so by
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turning the student center near the library into a new section of the library. The school hopes
this will allow more book shelves or multimedia facilities to be installed as well as allowing more
students to study in the library. In the conversation, the boy strongly opposes this plan and gives
two reasons. Firstly, he says that the school should use technology to save space in the library
by, for example, making scanned copies of some books and storing them in computers.
Secondly, he says that most students prefer to study at the student center, not at the library, so
transforming the student center into library space will only lead to even less place for students
to study.

20

[ A7F15]) Reading: A letter suggests that students should choose their roommates based on
two reasons: fewer conflicts and more dorm residence.

[ %FiE N 5] the woman disagrees with the suggestion:

(3]
(2). There are not many conflicts between roommates; even if there are conflicts, students
should learn to overcome them rather than avoid them. Experiencing conflicts and solving them
are part of university life. (2). The reason why students choose to live off-campus is that the
price of dorm living is too expensive not that they cannot choose their own roommates. Therefore,
allowing to choose roommates does not solve the problem.

The letter suggests that students should be given the freedom to choose their roommates
instead of being assigned a roommate by the school. It is believed that this will lead to fewer
conflicts between roommates as well as encouraging more students to live on campus. However,
the woman disagrees with this suggestion. First, she says that there are actually not so many
conflicts between students as the letter suggests, and that even if there are conflicts, students
should learn how to deal with them rather than to avoid them. Having conflicts and then working
to resolve them is part of university life. Also, the girl doesn’t believe that letting students choose
their own roommates would encourage more students to live on campus because the reason
why students choose to live off-campus is that the cost of living in the dorm is simply too high.
So the school should first of all consider reducing the cost of room and board.

21

[RE AN ] 2AREEE F— N8 ) mentoring program, 2 let fourth grade student to mentor first
year students. H M FAL: (1) to help 1st year student, help 1styear student adapt to college
life more quickly, because senior students know much more than the freshmen; (2) to help 1st
year student to know some senior students to expand social connection.

[F#4E W] woman FZEiX/ plan, BHAZ: (1) K—MH/NP Z#EAKIE, L schedule
change, building location, Afi1&8AH1iE, FrLlA 4 AR deliver those information f)1&2 1R A
Wy (2) AR — IR R A K — R ECE R —EIRRIR, S8 REZAFFERL KA
i 2 BT

The university has announced a plan to start a new mentoring program in which senior students
are invited to mentor first-year students. It introduced this program in order to first, help first year
students to adapt to college life more quickly, and second, allow first year students to expand
social connection with senior students. The woman agrees with this plan and the reasons given
in the announcement. She says that freshmen are often quite disoriented when they first enter
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the university, so a mentoring program would provide a channel through which they can obtain
useful information such as changes in class schedule or location of school buildings.
Furthermore, she admits that currently many freshmen students often meet and live with other
freshmen students only, which has limited their chances of socialization. The new program would
give them more opportunities to step outside their small circle of friends and approach and
communicate with other senior members of the school community.

22

SAAAR B TF % information day: 532742 S0

SR AR T H E B G B, 5 F S AR I B AR I RS B R A, 5 AR
SR, F—J5 Ve, v AR B 4 PN BRI

The school announcement says that it's going to hold an information day on campus. On this
day the school will provide students with a variety of information on studying abroad for an
international education. The boy thinks this is a great idea. He says that first, by attending the
information day, students will be able to collect information about overseas study in a more
comprehensive way. This is especially helpful for students who are planning to pursue further
studies abroad but are not able to find relevant information by themselves. Furthermore,
because students with overseas study experience will also participate in the information day,
they will be sharing their knowledge and experience with others. Students who are considering
studying abroad can talk to them directly and ask for useful tips and advice.

23

[AIHEY AT ES R, RIPOZ A AEARBIEE YO . Bl 1, ARk
. B2, FAERERENT, ARNG, AFRMEEBEM AR (AR 24
Bext, Bl 1, EIASTER A AL A RS, AT L2508 B e e R e R, i HL AR S e AR R
— MR B 2, MEHEA/AD, PRHERAFREM R b, KILUE, ERoAHn
HAh s 1o

24

S3 [RGB M) FRER NI E = TEAREERE, BRAILFAESFEEW T EA S/, HHA]
DAFE B2 AR 7R Rk i 2l R B0 o [ AEXE Y A48, 1, AR AT L H HIERNL
2=, REEIETE Z ME AR (2% banking, Z | finance HIEE) 2, ANREFMAIHXTZARE
Koy EIXEeif (AR AAS enjoy HEYE, JR%%, stressful)

The university has decided that all students should take three fine arts courses. It is hoped that
by taking these courses students will be more competitive when they enter the work place, and
that it is a good way to help students relax. However, in the conversation, the boy complains
that this is not a good policy. He says that taking mandatory fine arts courses means that
students will have less time taking their major-related courses which are of course more
important. Furthermore, he says the majority of the students do not have a talent or an interest
in art. So for them, this policy means a waste of time and even more stressful college life.

Task4
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1

BB RLE T — OB S, MR ATI#RE XK accept ARLLERIRARIL—FERIZR VY, 1M ignore
HREEA—FEHIAR PG Wy IRPRE AR AS 7078, i — D VE AR K — R & car, ANbei
K1 eE R T IRA AR SSEH, AFFRBREIRIE, U EARE, repair . LR
ZEE T T3 BT IR R AN D B A A

The reading passage introduces a term in psychology called confirmation bias, which means
that people have the tendency to accept information that confirms their belief while ignoring
information that does not. To further illustrate this term, the professor uses the example of a
female friend who wants to buy a car that is eco-friendly and fuel efficient, the type of car that
many women drive on the road. However, there are obvious drawbacks with this type of cars.
They are unstable, and the maintenance cost is very high, so the professor showed some reports
about these drawbacks to her. However, his friend intentionally ignores such information and
only accepts the positive information about the car because she has already believed that this
is the right car for her.

2

el B0 [ E 1 patterns of behavior. Wr/j: 1. —F/: male fish ¢ do attack dance to
the finish entering its territory 1 H/2% red mark 1), 3R %&E red mark i A4 2. goose:
female %&£ 14 25 J5 2 move its head back and forth, 1H/&4'E /) egg #f moved away PLJE, ©
PhsRIEAE . RS F— A S MR AT NCCH T 4985, 152 AFS i& 2 FAS id
NET), RIGHEHI lecture H 1] 4517 Gn Al E B 1K

The reading passage introduces a term called Fixed Action Pattern, or FAP, which refers to a
sequence of innate behaviors displayed by animals in response to an external stimulus. For
example, a male stickleback would see another male entering its own territory as a potential
competitor, but only when this male fish as a red stripe on their underside. The stickleback would
do an attack dance to try to scare away the invading male. In fact, it shows the same behavior
to almost anything red. Another example is the female goose. After laying eggs, the female
goose often moves its head back and forth to roll a displaced egg back to its place. However,
the goose would continue with this behavior even if the eggs have been moved out of sight.

3

—MEFUMG, FAEATEE G RBE . B0 TR2MRE, UHFEEEMIMEE /T, &
— MR, X RIRF AR, RS (B — BAPH T RE, WEHIRD,
AR AP i X R % i JE K SR E T people think it (manufacture the green car)  is the
right things to do but not built. AMIT3E AR ERZ LRI, A mMEi. (HRZERXFHE, AR

The reading passage introduces a term called misleading market survey, which means that
some market surveys may produce misleading results because respondents may answer
guestions based on what is socially desirable rather than on their true thoughts. The lecture then
gives the example of a car company planning to manufacture an environmentally friendly car.
To test the market, the company conducted a survey asking people whether they have interest
in purchasing this type of car. The results were quite encouraging so the company launched the
production, but the actual sales turned very disappointing. This is because respondents thought
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that manufacturing the car is the right thing to do, but they would not buy it in real action.

4

[ %A AR ] dormancy IX—ME&, B RIERIACHR A0 S B R B 53R 8s, R E &4
PHAEFE. [UFEEN Y Wy JapF LB professor ik 7 — ANt 15+ 7RI /K T 2 J5 st B e 7]
PR B2 Bk 3T IR B, XRE— 5T n] DARg A R, 55— 5 AT DL IR . OBk AR .

The reading passage introduces a term called dormancy. It refers to a period of inactivity in an
animal’s life cycle, which helps the animal to pass through critical environmental conditions. In
the lecture that follows, the professor uses the example of lungfish to further explain this term.
When their native stream or lake is about to dry up, lungfish would burrow deeply into the mud,
forming a hollow space, where they would remain in a period of dormancy for the duration of the
dry season. During dormancy, lungfish experience a drop in their metabolism, allowing them to
survive months underground without water. When the rains come again, lungfish will come out
of the mud to resume its life as a fish.

5

advancing crediting: a method that teacher help children to learn social appropriate behavior.
/N praise BIANF B, IRER SRR SMAT, FibATEAT 4, AATA KT 5. RE RS
s F A G ERHMAIE, AT RIAILF . Lecture: B E I I —H L5 HARAR
Bl BETIIRNE, BAIREARE keep classroom neat. 55—k, /NI —N 3
[ L, b TRENG, B AR Z AR RE R 0L N A 20 NICHEART 2 L, H 20 AR5
I, K¥Eo/NEFITERIERE4 Y - DRORP ON THE GROUND, HA/DHJLAATIEIRK
ME . BN L2l — BRI ASLEAIXT F/NR » IE R ALK ILLF (behavior proper), R
FEMREEH /N BABATT R TR /N i T — B E],  FHEOX AN, KRNI AT b
SATAE L IR L

The lecture talks about one child education strategy: advancing crediting, which suggests giving
children encouragement after they conduct certain behavior, in order to help them form proper
social behavior. The speaker cites one experiment to illustrate this theory: some primary
students were chosen and were distributed candies to each together in a room. Without any
warning beforehand, the tester wanted to see how many students can put candy wrappers in
the dustbin, and the result was that most kids just littered the wrappers on the ground.
Weixin:laoxikou.Then, the teacher praised those children who threw the wrappers in the dustbin
and regarded them as good kids. Several days later, when the same experiment was done again,
most children chose to put wrappers in the dustbin, and that was how the experiment effectively
proves the theory "advancing crediting".

6

[ EEUFFE Y root systems 7E desert B /K R I I

Wr )y AR S T — MR Y 6, SXOME Y TR B SR R A R ARz, EATA RIS
AR, T H 23— PRV ARG 2] 7 — PRAE Y AR B, R AR — R A ) AR St 2= B il — M Ak =24
X HRAE Y AR A 1A B B A KT ), BRSO ML W st i AR AR 1, X o2 R A
TR
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The reading passage introduces a term called root communication. It's a special type of
communication between the roots of desert plants. With root communication the roots of desert
plants can maintain a proper distance with each other, in order not to suffer from lack of water
due to competition. The lecture further illustrates this term using the example of a type of desert
plant called [C]. Above ground plants C seem quite spread out, but they've got very complicated
root system underground. When the roots of a different plant nearby grow large enough and
enter [C]'s roots territory, C’'s root system would release a chemical to warn the other plant that
“this is my space and my water”, so the other plants would grow its roots in opposite directions
to avoid competing with C. In this way, C ensures that it gets enough moisture and nutrition from
the soil.

7

KT kinesthetic (i@l iH1) learning [ 418 #5551 kinesthetic learning #t & —MA R T4 5T
BB, AEFAENS S, BT RN CRBEE, AR BSCRE) [FRnEY &1 A
W1, PPz, LARIZ /N4 (elementary school) #F&, AUAhAT] how to tell time. fih 5 J& % 7
%, BOEANKER (R RERAER, BAEERET) BUbATU A\, k4 5
IRTCWN. z Jefthgh, k4, 78 Ll NRIIME, ib—FRZEEERXNIMEREER, H—
ST Y LM% (the hands of the clock). LAiXFf game W5 HUAH @, A%

The reading passage introduces a term called kinesthetic learning. This an unconventional form
of learning in which students engage in physical activities while learning. The professor then
gives an example to further explain kinesthetic learning. He once taught an elementary class
how to tell time. At first, he used the traditional method of teaching, drawing diagrams to
demonstrate time. But he found that the students were not very interested. Then he changed
his style of teaching by asking the students to mimic the clock as well as the hands of the clock.
It was like a game in which students moved their bodies to simulate the movement of a clock.
And it turned out that this kinesthetic learning style was very interesting and effective.

8

[ C% 15 ): Negative ideation: a method used by people to resist desires by adding something
negative. /& VB RALFHITE ILK resist SRRV, FEAMRIIR ST

[HEA ) Buzzsnfh B SmdbeTs 5 %1 . #4% loves chocolate bar because it is tasty,
but chocolate is not good. So he used the method of negative ideation to refuse chocolate. J5
>k whenever he wanted to buy chocolate bar he would think it is associate with mud which is
the mixture of dirt and water, >k reduce the temptation, &% I he stopped buying.

The reading passage introduces a term called negative ideation, which means forming negative
ideas about something to help people resist unwanted desires for this thing. The professor then
uses himself as an example to illustrate this term. The professor used to love eating chocolate
bars because he found them very tasty, although he knew that chocolate is not very good for his
health. So in order to resist the temptation of chocolate, the professor used the strategy of
negative ideation. Whenever he had a crush on chocolate bars, he would try to associate them
with mud, thinking of them as a mixture of dirt and water. This worked successfully and he did
stop buying chocolate bars.
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TOPIC: strategic alliance. XML VLK A wlJE R — PR EE partnership, e H &>
AT BRM LN, 0 profits. LGB FRAK AT, —KAEF=I 51, —FE p.....,
W A FIECEE, B AT P21 5 )7 that covered p......, 455 it sold very well. &—ME KK
success.

10

P demand shifting. Two strategies of demand shift reduce the peak-peak demanding;increase
the poor-peak demanding. 4% 25| At i) — MNERIZ LI AT T —F 8, XAEIEAEN b
7-9 miZIE, NFEfuh, ROAME. FrmEEssSiEg, HIR2 NHAESEMN &6 ey
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The reading passage introduces a term called demand shifting, which means shifting an
organization’s customers away from peak-periods to non-peak periods, in order to reduce
demands in peak-periods so they can match the organization’s capacity. The lecturer then gives
an example to illustrate this term. He has a friend who runs a restaurant in LA. Every evening
from 7 to 9 o’clock there are too many customers that some have to wait more than half an hour
for a seat, but some just go away to other restaurants. So his friend comes up with an idea. He
offers customers free dessert if they come and finish their dinner by 7 o’clock. This works very
effectively. More customers choose to come earlier and leave before 7, making the restaurant
less crowded after 7.
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The reading passage introduces a term called “lateral view”, which means a view that is non-
traditional, involving ideas that could help solve a problem in creative ways. In the lecture, the
professor gives an example to further explain this term. A businessman operates a hotel but he
often receives complaints from its customers because they have to wait a long time for the
elevator. The man came to the elevator manufacturer, but found that resolving this issue would
cost a huge amount of money. However, his employees proposed a different solution. They
suggested installing a television on the exterior of the elevator, so customers could watch some
video while waiting for the elevator, which would not be so boring. This proves to be clever
solution and a good example of how lateral view works.

12
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KB RSB HIFEYT . ex. pine tree 2478 T 243k sun, dry soil, 2875 wet, shady, &4 oak tree.
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The reading passage is about a biological concept called autogenic succession. And the
professor in the lecture explains this concept by giving an example. According to the lecture,
pine trees grow well in a sunny and dry land. After a long period of time when the pine forest is
thriving its trees produces shade that blocks out the sunlight and the fallen leaves cover the soil.
As a result, the land starts to become wet and shady, and the environment is no longer
appropriate for pine trees but instead for oak trees. In this example, the growth of pine trees has
changed the local ecosystem and has made it become suitable for another kind of plant to grow.

13

KT R AR . a2 T IR experiment: e &8 —FHE Y branch %45 cut T, &4
TR R SRS I B R — R R . AR e R R, AT Rk R
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The reading passage talks about defense mechanisms that plants have developed in order to
detect invading organisms and stop them before they are able to cause extensive damage. The
professor in the lecture uses an example to illustrate this concept. He recently did an experiment
in which he cut out the branch of a plant to make it look like it is eaten by insects. Then the
professor detected that the plant, as well as the plants around it, began to give off a certain
chemical designed to keep the insects away
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Adjustable group size is a term used to describe the changes in the size of a species in response
to its survival needs. In the lecture, the professor further illustrates this term using the example
of baboons. When baboons sleep at night, they always stay close to each other in a large group,
of about 100 individual baboons, because this will allow them to have a better chance of
detecting an approaching predator. However, in the daytime when baboons are out looking for
food, they would form into small groups. This is because the plant that baboons feed on is
scattered over large areas, so it's better for baboons to search for the plant in small groups,
especially when there is a shortage of this plant.
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Some animals give out alarm calls to respond to danger, so they can warn their companions of
an approaching predator. However, sometimes a counterfeit alarm call is deliberately used by
an animal just to frighten their companions away in order to avoid competition. For example, the
vervet monkeys often search for their food together and share it with each other. When one
monkey spots a leopard, it would cry out loudly so other members will immediately run away.
However, on one occasion, a scientist noticed a false alarm call from a vervet monkey, which
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cried out just as its companions were about to share the food, but there was no leopard nearby.
In a while, the other monkeys returned, only to find that the calling monkey was eating the food
alone.
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Peer reinforcement refers to the practice of not punishing students who do not obey rules but
praising those who do so that the unruly students would modify their behavior. The professor
uses an example to illustrate this concept. Having finished playing with blocks, students are
supposed to put them away. However, a little girl named Sarah doesn’t obey the rule. Instead of
giving her a dressing-down, the teacher praises another students who clean up the toys. Seeing
this, Sarah does the same and puts her toys away as well.
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The reading passage introduces a term called “insight learning”, which, in animals, refers to the
process of working out a solution to a problem through observing the animal’s own surroundings
and applying what is available in those surroundings. The professor then uses the example of
chimpanzees to illustrate this term. A chimpanzee in a cage tries to reach a bunch of bananas
hanging on top of its cage. After jJumping a few times in vain, the chimp notices that there are
boxes in the cage, so it moves one box beneath the bananas and steps on it to try to reach the
bananas. Yet the bananas are still too high above, so the chimp starts to stack up a few boxes
so that it can stand on them to finally get the bananas.
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The reading passage defines a term called friend affiliation, which means people’s desire to be
part of a group and to be accepted by members of that group. Advertisers often take advantage
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of friend affiliation both in a positive and in a negative sense. The lecturer then gives an example
of a soft drink company that is launching a campaign to promote a new brand of soda. Two
advertising strategies are considered. In the first ad, everybody drinks this soda at a party, and
the soda makes everybody happy. This is friend affiliation used in a positive sense. In the second
ad, however, friend affiliation is used in a negative sense. In this ad, some young people are
watching a football game, and suddenly one of them drinks the wrong soda. Completely
surprised by this, all the other people give this man strange looks. Then they start leaving him,
like he has made an unforgivable mistake.
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The reading passage explains a biological term called referential alarm call, which refers to the
different noises that a species of animals gives off in response to the dangers posed by different
types of predators they see, and these different types of noises will also trigger different
reactions among the animals. The lecture uses meerkats for an example to further explain this
term. Meerkats live in underground burrows but they need to go above the ground occasionally
to look for food, during which time they are most vulnerable to predators. There are mainly two
types of predators for meerkats — birds in the sky and snakes on the ground. When a meerkat
is threatened by a bird, it makes very loud noises to warn other members of the danger, and
once the other meerkats hear this noise, they will run immediately back into the burrow for safety.
But when a meerkat sees a snake, it makes a different alarm call, which will draw other meerkats
to come closely together, trying to scare the snake away.
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The reading passage explains the concept of promotion risk, which is the risk for a company to
promote someone who possesses strong abilities in certain areas but is relatively less
competent in other areas. For example, a software company is considering promoting one of its
software designers to a senior position, but it faces a risk in doing so. On the one hand, the
designer has outstanding ability in software design and has contributed enormously to the
company’s profit, which has made him a perfect candidate for promotion. On the other hand,
this person has poor leadership skills, which makes him a less desirable choice for a leadership
position. However, the company realizes that if it does not promote this designer, he may lose
faith in the company and eventually leave, so the company is willing to take this risk of promotion.
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as possible information before making decisions.

[ 124111 The professor's example: once he needed an assistant for his project. The first
candidate was ideal; however, he continued to interview for others for a week because he
believed he needed more information. A week later, he called the first candidate to offer him the
position, but the candidate was already hired by another project. So the professor was basically
biased by his desire to have more information

The reading passage explains the concept of “information bias”, a term in psychology which
refers to the tendency for people to acquire as much information as possible before making
decisions, even if some information is irrelevant for that decision. In the lecture, the professor
uses his personal experience as an example to further explain this term. Once he needed an
assistant to help with his project, so he interviewed an applicant and found him to be an ideal
candidate. However, he did not make the decision immediately. Instead, he continued to
interview more candidates because he thought that he needed to have more information to help
him make the right choice. Eventually, after a week’s additional interviews, he realized that the
first candidate was indeed the best and decided to hire him. However, that candidate was not
available then as he was hired in another project. This example illustrates the harm that
information bias can do to the decision maker.
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The reading passage discusses the term “outcome dependency”, which refers to the tendency
of people to form a positive impression on another person if they know that this person can help
them achieve a certain outcome. The lecturer further explains this term by giving an example of
a company that sells office equipment. This company has a sales team whose bonus is closely
tied to their sales of office equipment. The team is then divided into two groups and each group
is asked to watch a video of a new sales person about his work experience. However, only the
second group is informed beforehand that this sales person is going to join their team and help
them achieve their sales target. After watching this video, each group is asked how they would
view this sales person. The first group does not provide much feedback, saying they do not have
any particular impression on this person. By contrast, the second group says that this person

has left them with a very deep impression and all believe that he is a highly qualified salesperson.
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The reading passage explains a term “demonstration of qualities” which refers to the
phenomenon in which an animal demonstrates physical characteristics of being healthy and
strong in order to deter attack by its predators. The lecturer takes the example of antelopes.
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When a group of antelopes face dangers posed by wild dogs, some antelopes do not run away
like the others. Instead, they stay where they are and keep jumping high up into the air (also
called stotting). This may serve as a signal to the predator that they are very fit and so are not
very easy to catch. It is found that wild dogs often do not chase these antelopes that are jumping
but target those that do not. The wild dogs may decide not to waste time and energy chasing
the strong and fit antelopes.
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Place marketing is a marketing strategy to promote the most unique features of a place in order
to attract tourists to this place. The professor further illustrates how place marketing works. He
gives the example of a seaside town, which has a beautiful beach and many bicycle paths
around it. So the town uses these as its unique features for marketing campaigns, advertising
that tourists can not only enjoy beautiful beach, but also play volleyball, do cycling and other
sports activities. This appeals particularly to the interests of active young people, so the town
receives a large number of young tourists, and as a result the town’s hotel and restaurant
industries begin to thrive, leading to a prosperous town economy.
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Self-serving bias refers to the tendency for people to attribute their success to internal factors
while blaming external factors for their failures. The professor then gives an example to illustrate
this term. A group of people were given an intelligence test. When the test result was released,
half the test subjects were told that they did well, while the other half were told that they did
poorly. Then, all subjects were asked what factors had contributed to their success or failure on
the test. Not surprisingly, those who did well said that it was due to their intelligence, while those
who did poorly said that they were unfavorably influenced by other factors.

Task5
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The boy is supposed to perform in an acting class with his partner, but the problem is that his
partner has dropped that class. So the girl gives him two solutions. The first solution is for the
boy to act by himself, and the second solution is to invite another person to replace his partner.
| would recommend the boy to find a new partner because firstly, he must have been practicing
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for a while with his old partner, so if he decided to act on his own, he would have to make a lot
of changes to the performance, which would not be easy. Secondly, the girl says that she could
act as his partner, so the boy does not have to worry about not being able to find a new partner.
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woman Y #|—-~2: marine research [¥] offer, {HZ% A U252 T 2281 tuition. man :
1. explain to them and ask for more money(women A4t Ial offer);2. take a part-time
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The woman has received an offer from a marine research institute, but the scholarship she’s
been offered is not sufficient to cover the tuition for the coming semester. The man gives her
two suggestions — to ask the school for more scholarship, or to earn some money by taking a
part-time job. | think the second suggestion is better. | think whatever amount of scholarship a
school has decided to give to an applicant, it must have done so based on careful assessment
of the applicant’s academic achievement, so there is little chance that the school will change its
mind simply because a student wants more. Secondly, taking a part-time job will be beneficial
for the girl, not only because of the money, but also because such experience can teach her
some important skills that are valuable when she graduates and starts looking for a full-time
job.
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The girl is often late for her class because this class starts only 15 minutes before she finishes
her work at the restaurant. The boy gives her two solutions. The first solution is to reschedule
her working time so she can come to the class earlier, and the second solution is to drop this
class and take another one at night. | would recommend the girl to talk to her boss and try to
rearrange her working shift. As the girl mentioned, her boss is really a nice person, so he would
certainly understand the girl's situation and agree on a different shift for the girl or maybe allow
the girl to leave a few minutes earlier. | think it would be unwise for the girl to drop a class simply
because she needs to work part-time for a restaurant. After all, the first priority for students
should be studying, not working.
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The woman is trying to apply for a summer job at a magazine, but the application deadline is
only one day away.She could either hand in her application to the magazine company personally
tomorrow morning, or she could use the courier service to send her application. | would
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recommend the girl to go to the magazine company herself because this shows that she
respects and values this work opportunity. This will help her leave a good impression to the
people at the magazine. The courier service, on the other hand, may not reach the magazine
company in time because sometimes things get delivered to the wrong address or just get lost.
So to be on the safe side, she should go to the magazine company and hand in her application
by herself.
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The girl's roommate hangs too many paintings on the wall. The girl does not like these paintings
but she’s not sure what to do. In the conversation, the boy gives the girl two solutions. She could
either remain silent and gradually get used to these paintings, or she could come up to her
roommate and state her honest opinions. | would recommend the girl to talk to her roommate
and try to work out a solution with her. The girl lives in the dorm, so it must be painful to see all
these paintings that she does not like every day. | think it's better for the girl to be honest with
her roommate. Just tell her that she does not like the paintings, and try to persuade her
roommate to draw something else, something both of them like.
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The girl has a class presentation, but the classroom is at the other side of the campus and she
has only 10 minutes left. Plus, it is raining outside and she doesn't have an umbrella with her.
The boy gives her two suggestions. First, he will lend an umbrella to the girl, but she needs to
wait him to collect one. Second, he also suggests her to run away to the class without an
umbrella. Personally speaking, | think the girl needs to run to the classroom right away, because
she will miss her presentation if she waits for the umbrella. She may get wet with poor image for
presentation but she can give her presentation on time. This is more important than whether she
gets drenched or nol. Anyway, she might want to find some pieces of cloth or plastic bag to wrap
up her bag and herself from getting wet.
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A journalism student plans to attend a lecture given by a well-known person in the field of
journalism. However, at the time of the lecture she has a part-time job at the library so she’s got
a time conflict. She could either explain the situation to his boss at the library, or she could
borrow and listen to a recorded tape of this lecture. | would recommend the girl to go and listen
to the lecture. | think listening to a recorded tape is boring. You just listen and cannot interact
with the speaker. On the other hand if you attend the lecture in person, you can find an
opportunity and talk with the lecturer about anything you are not clear about or interested in. As
to her work in the library, | think her boss would understand her if this lecture is really important.
They can reschedule the girl's work on another day.
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The boy does not have his biology textbook because he registered too late for the course. He
could either order a new book from the bookstore, or he could get a second-hand book from
senior students at a lower price. | think it's better to get a used book if he can. This is because
ordering from the bookstore takes one week but the boy’s first class is only a few days away. It's
quite risky to go to the first class without the textbook since it would leave a bad impression on
the teacher. To get a used book, on the other hand, is quick and less costly. The used book may
have some markings on it but most of them should be the important points about the subject,
which would be useful when the student studies the same subject.
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The boy is going to publish an article about sculptures in the newspaper. He wants to include
some photos he took of the sculptures, but the problem is his camera malfunctioned and he
does not have photos that can be used. In the conversation, the girl recommends two solutions,
the first, to submit the article without the photos, or secondly, to borrow a camera and retake the
photos. | would recommend that the boy just retake the photos. First of all, if an article is
accompanied by pictures, it will attract more attention from the readers. They will feel that this
article is interesting and be more willing to read it. Secondly, since the boy has taken photos of
the sculptures once, it will be much faster if he does it a second time. So he doesn’t need to
worry about missing the deadline.
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see the performance.
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J7% 1.To postpone ZEHiF| R &, {H but it not easy to book the music hall where the performance
will take place.

J7% 2. To notice students by posters at different locations on campus since students are
everywhere. BAEPEE T,

The boy is supposed to advertise an announcement on the school newspaper about an
upcoming performance by the school’s singing group. However, he has missed the deadline for
submitting the requested information, so he is worried that not many students would come to
this event. The boy could either postpone the event till next week, or he could put up posters
instead to advertise the event. | would recommend the second solution. Postponing the event is
not a good idea because it may not be easy to book the music hall again where the performance
is taking place. On the other hand, putting up posters is not only the easiest but also the fastest
way to get students to know this event, because posters can be displayed at various locations
on campus so wherever students go they’ll be able to see them.
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From the conversation we learn that the girl's laptop was broken and she couldn’t get if fixed.
There were some very important documents that she needed to read on the computer and
prepare for her final exam. There are two solutions. The first solution is to rent a new computer,
while the other solution is to share a computer with her roommate. | think it's better to rent a new
computer, because when it comes to studying for an exam, it's important to have your own
computer and have access to it whenever you need to, like when you suddenly have a good
idea and you want to develop it on the computer. On the other hand, if you share a computer
with your roommate, even if you have a schedule, sometimes you have to wait a while for your
roommate to finish up her work on the computer. This reduces the efficiency of study, which is
definitely not good before the final exam.
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The boy got injured when he was helping one of his friends move to a new apartment last week,
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so the doctor told him not to carry anything heavy for at least a month. This means he can’t
continue his work in the college bookshop because one of his routine jobs at the bookstore is to
carry large boxes containing heavy books. There are two choices for the boy. The first choice is
to keep his current job in the bookstore working as a cashier, and the other choice is to take
another job washing dishes in a local cafeteria. | think the first choice is better for the boy for
two reasons. First, the boy has worked in the bookstore for a while so he should be familiar with
everything about the bookstore, such as its collection of books, its clients and his coworkers,
which would help him make a fast and successful transition into his new position as a cashier.
As to the conflict with his study group, he can always make up for this by borrowing notes or
materials from other members of the study group afterwards. Second, working in the cafeteria
is a much more strenuous job which involves a lot of cleaning and washing up, and it does not
pay very well, especially when you consider the fact that you are not entitled to book discount
any longer.

14

[ 24 @] — A B A AE i (master’s degree), [AI B, 4RJ5 professor B £ TF4, &
Miss i —if, A BEXNFEREZX TR LAY B SMM— lecture, (HERE 2 KiEfhiES. [
R AE A ME EE 55 R 3 final grade [1) paper %5 [k 715] 1. #4% cancel A57514, 1H
MR BEMA lecture E AR E KU opportunity, AEA S AE. 2.4, paper R fE5
A58, ZEHIZZ paper.

The professor asks the student to give a lecture for him as he is away for business for a couple
of days but there are only two days for him to prepare and he has an important paper which
counts towards the final grade to finish. There are two possible solutions: first of all, he could
ask the professor to cancel the class, and the second solution is to help the professor to teach
the class and ask for an extension on the paper. If | were him, | would choose the first option
because the professor can still give the class when he comes back and it would make little
difference. However, if he asks for an extension, the professor to whom the paper is submitted
might be displeased and even punish him for that.

15

[AERMEY: LA REE paper BK due, MhIEA E55E T, EAZIEDLE (this afternoon)s?
VENV I8 2 W E i — 1 B K2 if(because the professor sent email that students can delay to
send paper until tomorrow morning.). [T EY: HE 1. IR LA T, FF Hibv] LLfn
RATH EDr X W Bt W — AR G A, T R AL T b AR AR BRIX 9 I A —ifE B, ).
R 2. WIRAA LD, 4HUT RS (put another data, such as, graph, which help paper
better than now.).

The girl's paper is due tomorrow but she is not sure whether she should submit it this afternoon
or spend another evening improving it and submit it the next day. | would suggest the girl to
submit her paper tomorrow. Firstly, | think if the girl has one more evening to work on the paper,
she should be able to improve the paper quite a bit. Like she said, she could put in some more
data, such as graphs and tables. At the very least she could correct some spelling mistakes in
her paper. Secondly, | think the girl can postpone meeting her friends until after tomorrow, when
the paper has been improved and submitted. This way she could have fun without having to
worry about the quality of her paper.
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A WXEY: — 24 A her friend 24 RS, %2 share il a new apartment , ARIERC
ZEW T an apartment, #rEk&i&E, IR K just OK, %4 K F4-2 sign the contract for the
apartment. {E#14K [ . & F|—4> nicer {1, larger and closer to school, #2551,
QAR IX AN . AR, S RUAEA RSN 7. HibE &K went to hiking T, ZE—JEA
[7]>k the next week. has no access to emails and mobile. So, she can't be able to contact her
friend to make a decision together. ZAERNKIES . [RRTRY: LAEALWNMERTR: HE 1.
sign the new contract for the new apartment which is more expensive, closer to campus, nicer
and due today without her friend's opinion. XN R L2240 4%, {H She doesn't know her
friend's financial situation, H.Uh = & fidHANEE . 7% 2. stay with the previous apartment they
have agreement on which has right price and a OK place, EiXAEH A —kREZEH . HXA
LR

The problem the woman encounters is that she cannot get in contact with her friend to make a
decision about an apartment she and her friend are going to rent together. The woman has two
possible solutions. First, she could make the decision on her own without waiting to ask her
friend’s opinion about the apartment. Second, she could stay with the previous apartment that
they both agreed on. If | were the woman, | would choose the second option to stay in the agreed
upon apartment. First of all, her friend might not like the second apartment or be able to afford
the rent on it, which is more expensive than the place they agreed on. In addition, being a little
away from campus is not such a big deal. | am sure there is public transportation available.

17
LA I, G EES 0 summer courses, {HJEWEER, FTLAZE—, 2 library #] part time job,
but it will cost her 3 hours. % —J27F dorm H O, HEEEE, REEREITAZ

From the conversation we learn that the woman intends to take a summer course which is quite
important for her, but the problem is that the tuition fee for this course is very high and that she
has to rent a place to live which is also costly. In order to cope with this financial stress she could
either earn some extra money by taking a part-time job in the library, or she could quit her current
meal plan and cook her own food in the dorm. | would advise the girl not to quit her meal plan
but to work in the school library instead. The main reason is that cooking is never an easy job
because it takes skill and time, both of which the girl might not have, so if she quit her school
meal plan she could end up having to eat outside the school dining hall, which would cost her
even more money. By contrast, taking a part-time job not only eases her financial strain but also
provides her with some work experience which may be valuable when she is looking for a job in
the future.

18
BN band TFE BRI, — N EFEZF music studio, {H21R 51, 5 — & music building
Wttt 4, WEEFRB, BHRARESS, W EWARESR S K.

From the conversation, we’ve learned that a boy from the school guitar band has trouble finding
a suitable venue for staging their upcoming performance. So he discusses this problem with a
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girl and two solutions are mentioned. The first solution is to rent a music studio outside the
school. This would ensure the best quality of performance but would mean a higher cost of rent.
The second solution is to discuss with the school director about the possibility of using the school
musical building, which would not cost much but would only be possible during the evening. If |
were the boy, | would choose the first option, which is to rent a professional studio outside the
school because although this would cost more, the band could charge a small amount of
admission fee to cover this cost. Also, if staged in a professional studio, the quality of the sound
and performance would definitely be enhanced, which would attract more audience in the future.

19

[1 /@] The man has a problem: he cannot ride his bicycle in cold weather anymore.

[2 1% ] They discussed out two solutions: (1). The man can share his roommate's car, but
their class schedules are different; (2). He can buy a used car from one math student at a
reasonable price, but owning a car is actually expensive.

From the conversation we learn that the man has decided not to ride his bicycle because it's
getting unbearably cold, so he needs to find an alternative means of travelling to and from school.
In the conversation the man and women have discussed two solutions. The first solution is
carpooling with his roommate who'’s got a car, and the second solution is purchasing a used car
from another student. | would prefer the man to share his roommate’s car because, first of all,
the cost of buying a car can be quite high, even if it is a second hand. And if you take the
maintenance cost into consideration, it would probably cost more than the boy could afford.
Secondly, | think the difference in class schedules between the man and his roommate does not
have to be a problem because the two of them can always find ways to accommodate each
other’s schedule so each of them can arrive at the school neither too late nor too early.

20

[ A a8 ] 2 AR B BRI BHP) paper: K15 — > magazine IAIGE N, 8 72221 % T how to start
up business, the businessman called to cancel the interview because he has to attend a last-
minute conference and will not be able to be back(out of town 7°) until next week. [f#H 7% ]
MR —: (1)wait for that person to come until next week, {HS43 4% less time to
write paper; (2)interview another person from the list given by the professor, {H/2 area &4 —
FE, LA magazine 1R/ .

The girl student has trouble completing her business paper because the person who she intends
to interview, a founder of a magazine, has just called her and cancelled their appointment saying
he had to attend a conference out of town and would not be back until the next week. The girl
has two options. She could either wait for the person to come back next week for an interview
or she could interview another person, who is also a successful businessman on her professor’s
recommendation list. | would advise the girl to wait for the magazine founder to come back
because she is writing a paper on how to start up a business and a magazine founder, in my
opinion, should be the perfect person to talk to if she really wants to hear insightful opinions and
interesting ideas on this particular topic. Furthermore, she can think of ways to interview the
magazine founder through email or telephone instead of a face-to-face interview. | think the
magazine founder would understand and agree with this request if the girl explains to him that
she needs this interview quite urgently to finish up her paper.
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LEWIEE 7, HIRENZ AT (20 M%) % hiking, EEREEUZ 5. AILERE, ANE, fE
FWE, G DNE Gy —DEEE, RN T NKU, KA. 58 2%, mRE)R
it aE, M HIXCE L AT E 2 SN

The woman is supposed to take a group of kids for a hiking trip tomorrow, but the problem is
that her feet got injured, so she has trouble perfoming her duty of looking after the kids. She
could either rest at home and ask another volunteer to do her job, or she could still go for this
trip by walking slowly. | would recommend the woman to stay at home instead of going for the
trip. This is a hiking trip so if you are not able to walk properly you are not going to finish the trip,
not to mention taking care of others. So if she insists on taking this trip, she would probably end
up being a burden for the whole group. Secondly, it's not like nobody is there supervising the
kids. There is another volunteer who can do the job. Although 20 kids might be too many for one
person to handle, with a little more effort and attention I’ m sure that the person can do the job
well and all the kids can enjoy this trip safely.

22

(A TRAEY LA E] T —A summer job, I+ H7E town 2| 755, AR1EH S M1E & E 4L
(L2237 summer job, (B2 75 8 summer J & RERLAEIX AN 1, FLAE A 78) Lk 7 % ]
BAGTHAE: 1T EEmE A RN, ibHEE S, HAMAFIEE&FL. 2. W
A EAERAE , AR LA N S SR r i, A RPN ERAST T A B AR U T

The girl is to take a summer job and has found a new place to live near the job in town. Now she
is not sure what to do with the dorm she currently stays in. She could either rent this dorm to
another person and collect some rent, or she could leave the dorm empty but she’ll have to pay
for both the dorm and her new apartment. | would suggest that the girl rent her dorm. First, by
renting out her current dorm, the girl can make some extra money to help cover the cost of her
new apartment and also the computer she wants to buy. Second, she can carefully select a new
tenant who is neat and organized, so she does not have to worry about her dorm being messed
up. Perhaps she can do so by posting an advertisement with all the specific requirements.

23

(AR RMEY AT IR 7, ZRBER, HIRAH K. Uk TE] (1) LA SR
MEBHEL, ERAHEOHEREAMR AR, AT review lesson;(2) BIRIEHTA FHAM <
THE, ERXFEEG RSN,

The boy’s feet got hurt when he was playing basketball so he plans to go to the hospital tomorrow,
but he has an exam on the same day. In the conversation, the girl suggests that boy could go to
the hospital today, or he could go to the hospital after he has finished his exam tomorrow. | think
that the boy should see a doctor as soon as possible because even the slightest illness could
turn into something serious if not treated immediately. When it comes to treating illness, hours
or even minutes count! Also, if the boy missed the review session, he could make it up by
borrowing notes from his friends, and doing some crash reading the night before the test.
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Task6

1

farmer £+ desirable feature [ FARE/EY) . 25 7 #1516, wheat, JFRAR 2 Rl 1) i #5]
e b, farmer ALK 4R SR . peach FERF SR/, farmer 265 R 52 K 4k SR AE
L2845 150 B A1 4 2 1 PR A

The lecture talks about selective breeding of plants, which refers to the practice of selecting
plants with desirable characteristics for future breeding. The lecture gives two examples of
selective breeding. The first example is the wheat. When a field of wheat is fully ripe, some of
the wheat stems bend down, so farmers would select wheat stems that do not bend for future
propagation. The second example is the peach. The peach fruit used to be very small, so farmer
would pick those bigger fruits to grow for the next season, so gradually the peach fruit becomes
bigger.

2

PR IR UM AR LRI R WA T A5 U T How to do it and why it is important
to JCAF T b T () R A2 LR R B 451X 1Y) How:  repeat the name over and over again, show the
name on the screen of the TV example: — M NLIY“quick washing”Why: (2 £i)1. people are
likely to buy sth. they know the name of 2.7 it (] 4 7 #l advantages 22%f b5, AR HRE
ANiE advantages {HANHITE ZMEAN R A XL it A8 )2 S IER A4, J9tt
2L H1E name 1R B EL?

The lecture explains how a piece of advertisement can be designed to make the viewer
remember the name of the product, and why is it important to do so. It uses the example of an
advertisement for a washing machine called “quick washing”. To make viewers remember this
name, the advertisement not only repeats the name over and over again but also illustrates
visual image of the name on the TV screen. The lecture then explains that it is important for
viewers to remember the name of a product in an advertisement, and to associate all the
advertised benefits of this product with this name, because otherwise the advertisement would
be pointless.

3

Anti-form artists, 5 traditional art form i<, X# art form 7] LLiER 2 KA TR ARFE 2 Z
A, BEHIXFH art form R At traditional art form E%45%, 25947 7 stone and mirror.
FANG T AR, X Fh form & ECE R LY, IXFE passers-by AJ LU E F

Anti-form artists, unlike traditional artists, aim to make art accessible to the general public, so
they try to make art inexpensive and affordable to most people. There are two methods anti-
form artists often use to achieve this aim. The first method is to use simple materials. For
example, an artist arranged irregular stones and mirrors, both inexpensive materials, to create
a particular artistic scene. Another method is for artist to stage outdoor exhibitions. For example,
an artist put a piece of large white cloth near the fountain at the center of the town. Any passers-
by could come near and take a look. The wind blew the cloth, creating a moving piece of
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artwork.

4
BRI AR ? B — N NEPEE T+, WAEZES W —AORIEEM S 1, A& & RN %
B—E EIFEAE R, il ROz AR BRI R AR EFR TS, MPERBIBUIMmER, X
FEE 01— B RN T EERMAE, WA AT DR R A, 85 1 S0 A 2 K

The lecture talks about how actors can get emotionally involved in a play, which is extremely
important even before the play begins. An actor who is emotionally involved is not simply acting
a role; he is thinking of himself as the role. They key to this level of involvement is to think from
the perspective of the character. For example, an actor is playing a king who is about to see a
young man. The young man wants to marry his daughter. In order to get himself emotionally
involved with this role, the actor should think about a few questions, like “Does the man really
love my daughter, or is he trying to steal my power?” By thinking about these questions the actor
prepares his mind for the role, thus his acting would seem real to the audience.

5

YR w2 predator LLERY H & defense P FH 777k behavior: %% | —AEW(k), Wi &iX
MNEIA 2 #7735 . 1) fool predator. A2 H EATE R EHHIEIME (bite), HELEANIAZHT
% bite, and move suddenly to scare the predator, predator 525"l . 2) misleading: %&£,
XZEYIR B A AR AR, sk¥E, bHMeHEUONEABE T . MedsE T, FhMed
AT, MEEES K.

The lecture is mainly about two animal defense behaviors, fooling predators and misleading, to
avoid being eaten by predators. Two examples of a snake are given to help further explain these
defense strategies. First, when facing threats, snakes often pretend to look more dangerous
than they actually are. They become bigger in the part of its head and move fast, trying to bite
predators. In fact, they don't really want to bite since their mouth is closed when they move. But
shakes try to fool the predators and scare them away. [f the first strategy doesn't work due to
the persistence of the predator, then another strategy called misleading is applied. The shake
will pretend to be dead and hope to be ignored by predator. The snake lies down to the ground,
with belly upwards and mouth open, to mislead predators into believing the snake is dead. Since
most predators are not interested in dead meat, they would run away for another meal. After few
minutes, the snake wakes up and survives for another day.

6

marketing strategy. #f £l —# 1 second interest [ 5 I , 5t & 7 S8 K —i% — 1 75 IR 5| i %,
B SR, HRIRM = KRR IEE K — & 42k game video, MR T E IFAR MBI . &
A DU 20— L8 B4 B (1 PR R S (R FF IR R, B it e S X P iR AR, —HECR
JE - ) T VT 0 B AR SIS R iR O 7 it B R I A 2 R IX 5K K

The lecture talks about a strategy often used in marketing called second interest, which means
that a company can give some free products or services related to their primary products in
order to boost the sales of its primary products. Two examples are given. The first example is a
computer store trying to sell their computers. They can give out free video games to its potential
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customers. Those who are interested in the video games may later decide to purchase their
computers. The second example is for the computer store to offer free courses on computer
knowledge and operation. By doing so the company maintains a close relationship with its
customers, and when these customers want to purchase a computer they may think about this
company and purchase computers from it.

7
PIAS NGB e o ] R 5 50 = N B 2 Fh07 30 1 bt AT ANIE B — Bz i 2 Wrsg
P A S S R o R R R PR — T R T

When two people have a conflict, they often need a third party to help resolve the conflict. The
lecture talks about two ways of resolving a conflict, namely mediation and arbitration. Mediation
means a mediator will act as a neutral third party and help the conflicting parties to discuss and
compromise in order to reach an agreement. For example if two roommates have a conflict, their
friend could act as a mediator and help them solve this conflict. Arbitration, on the other hand,
means when two people have a conflict, they appoint a third party to review the case and make
a final decision in favor of one of the parties. For example, the same roommates would turn to
a judge in a court to act as an arbitrator and make a decision on how to resolve their conflict.

8
[iFRE N Y TS5 40%525, kT collect information for business marketing ) 2 N7k, 5—&
quantity way, 1 &, — car manufacture, use XA VLB KEIAAE, KIKAZTHE

FU S K A R SN 55 AN 772 opinion based Fft & A& 2 50 . 2 )5
ZATN T BN A I w0, g% 7 survey 1) 5 #, K2 car 1Y back
seat i@, % FAHAE R,

The lecture talks about two ways of collecting information for business marketing. The first way
is to collect quantity-based information. For example, a car manufacturer collected a large
guantity of data from the market, analyzed the data, and drew the conclusion that customers
without children had made more purchases than customers with children. The second method
is to collect opinion-based information. For example, the same company designed an opinion
survey to find out why customers with children were less willing to purchase their car. It turned
out that many respondents said their children found the back seat of the car uncomfortable. [/s-
keygen-answer-20110108

9
HRIEA ORI IRBE I DR, 20 JUMPERYE, A — MR 2w A m, AT RUREE, &7 ORI e —F A
ZH A, RIEED T TR 4.

The lecture discusses two basic types of human tears, which both serve to protect the eyes, but
in different ways. The first type of tears is called basal tears. This is a more frequent type of
tears. Basal tears help to keep the eyes wet, and they contain chemical substances which can
fight bacteria. The second type of tears is less frequent, and is called reflex tears. Reflex tears
result from irritation of the eye by foreign particles such as sand. They attempt to wash out
irritants that may have come into contact with the eyes.
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10

[ JHRE 5] Wetland's two benefits for animals.
1). For nursery, sharks lay eggs in wetlands close to the ocean, because wetlands are shallow,
there are not large predators, baby sharks can grow safely in the wetlands and survive in the
ocean.
2). For rest and find food. Immigrating birds, for example, paper, during the long journey of
immigration, stop the wetlands to find the food because they can find similar food like before

Wetlands are a crucial part of the world’'s ecosystem. The lecture explains the benefits of
wetlands for animals. The first benefit is that wetlands can serve as nursery habitats for animals.
For example, some shark species lay their eggs in wetlands that are close to the ocean. These
wetlands have shallow water levels so there are no large predators around. In such a wetland
environment, baby sharks hatch and grow safely before they begin their life in the ocean. The
second benefit is that wetlands can be used as resting places or feeding grounds. For example,
some migrating birds like the [#% paper] stop at the wetlands during their long journey of
migration, because they can find similar food there as before.

11

=, BN T EEMANTSL, B2 AL T younger female baby, il & i H 42/ baby, 15
WA DAEAMHEREY) . XANE AN, —/NEERY E O Baby HIER, @ignr AR B &Y
MfZT5 5 >2 younger female fE2% 2 practice skills, kXt ath B R+ A 15 Bl

In some animal species, the adult mother does not stay with her young babies all the time.
Sometimes she lets a younger female member of its own species to look after the babies. The
lecture talks about two benefits of such behavior both using the example of monkeys.The first
benefit is that the mother monkey can do other more important things, such as looking for food,
when she hands over the task of caring babies to another monkey. This can help to ensure the
survival of baby monkeys. The second benefit is that the younger female monkey, who takes
over the task, has the chance to learn some mothering skills which can be used when she
becomes a mother.

12

7 wildfire, /X4 wildfire 7] LA 5041 ik damage 1B &t A] DL SR AF AL, IF MG A, 1. fEZ
SR ALNT B, thin4s woodprecker, #24t branch £JE(:, 2. REAIEIHIMEY) wipe out, %5
YK R, gy deer, HiAEYE nutritious, which are more attractive to deer.

The lecture talks about two ways in which wildfire can benefit animals. Firstly, wildfire can help
create a shelter for animals and their young, so they can better survive. For example, after a
wild fire, the woodpecker can take advantage of a branch which has survived the fire, because
it can build its nest more easily in this branch. Second, wildfire can wipe out old vegetation and
create room for growth for new and more nutritious vegetation. For example, a period after a
wild fire, the deer is able to find greener, more nutritious plant to feed on, which is more beneficial
to its growth.
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Bt irrigation(FEME R Gt) U BR i: — RIKEALFZEHILH 2, X FEHUEEE T disease 4K i LA/
OB, TRA LK 2 B T )5 AT RN 1 LS SRR

Irrigation is an artificial system of applying water to the soil, which is very useful for agriculture
in areas that lack rainfall. However, the lecture talks about the disadvantages of irrigation
systems. Two disadvantages are mentioned. First, the wetting of crops may result in increased
sensitivity to diseases. So if the amount of water is not controlled well, for example if excessive
amount of water is released, the growth of crops may be damaged. So the design of the system
should be extremely careful. Second, the water used in irrigation systems often contains salt. It
gradually leads to high levels of salinity in the soil, and as a result the soil may not be suitable
for growing crops in the future.

14

CiFEE N2 ) 6T A ZB47 NN 52 native fish. 55—, NN THHE, T IHFZHIM%E, 5]
HET Er R, BRI, A HISAS R native fish ) predator, [&K75 native fish %5
= R TR . NFON T IE AR, (SR AR 2 ] U RH, AT PR AR, R
HIB K 23 R BE 2 AU, (HRBEE D T, native fish gl 2 BIM4E.

The professor in the lecture talks about how human activities affect native fish. First, by
connecting streams with oceans in order to ship goods, humans have introduced many new
species of large ocean fish into the streams, some of which have become predators to the local
fish, whose number has decreased in great numbers. Secondly, human activities have also
changed the lake’s temperature. Humans cut down trees in order to make room for housing
development; however, trees serve to block sunshine thus lowing the lake temperature, which
in turn brings more oxygen into the stream. However, with less trees, there is less oxygen and
many native fish suffocate and die as a result.

15

R A B E R, — R AMTNFER RS AR, ARSI A S E,
HFEMOE RS 7 DR MNFEAFRFSER LR, AR SRk, AR, T s
ENE

The lecturer discusses a term in sociology called Solidarity, which refers to the ties in a
society that bind people to one another. There are two types of social solidarity correlating with
different types of societies. The first type is mechanical solidarity, which is often found in
traditional or small societies. In a society with mechanical solidarity, people feel connected with
each other mainly through doing similar work or having similar lifestyles. For example, in a rural
society, farmers often take part in similar agricultural activities. They share similar work or life
experience and they face similar challenges, and thus develop a sense of solidarity. The other
type of solidarity is organic solidarity found in more advanced societies, where individuals
perform different tasks due to specialization of work, so their life and work depend on each other.
For example,doctors treat illnesses for teachers who in turn can teach doctors. This
interdependence gives rise to solidarity among members of the society.
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et service FIR K WAL A N E1E B SRS 0. 2501 K 2 B & painter, FHPIF 7iEiER N
FNTE MR BE S AR IE 1. — . statement from old customer, & ' EifvF. . £ T/E=4#: I before
and after picture, 1EXfEL.

The lecture talks about two methods a business can use to advertise and promote its service.
The speaker uses his friend’s painting company as an example to explain these two methods.
The first method is to ask customers to write testimonials. For example, the painting company
can ask its former customers to write a comment on their service, saying how nice or how quick
their paint job was. This will attract potential customers to the company. The second method is
to illustrate a comparison between the wall before and after the paint. So when people see how
much the wall has improved by the paint work, they are more likely to trust the company’s service.

17

biology, W2 [RIf)3E4 7. WA MR barrier, SKIRHALSIY 4y, —Mir 2
chemical FHALZEPFRBHIERI N, 67 23U —F &), WAZ), s S —any H i
WORHFT, MEEEY W —MIL Y, RIS 2K BIAE, IR IXARE, AT PR
AEHN, WA CRIX P e 2% s, LR T k. 5 M7 physical, 75—
Tl 2> FL AR e 4 A ORI R R (B W) Wi b gather /)N 3k (little stones)>k block ‘E1i7.

In the lecture, the professor talks about two barriers that animals use to compete for food with
other animals. The first way is to use chemicals to prevent others. For example, when forced to
leave the food to get help carrying it back home, a type of ant would release a chemical beside
the food that is so repulsive that other ants might not want to eat it. The second way is to use
physical obstacles. For example, another type of ants might put little stones on the way of its
competitors in order to block them from getting the food.

18

[ 2 5 ). Archeologists use different ways to decide the places where they should dig for
ancient artifacts. 1. Surface feature of the land. E.g. New Zealand. It has a typical structure. High
land? (New Zealand have Giant step to the hill.) 2. Plant: certain plants grow in certain places.
E.g. Banana nuts tree were planted in Central America. These trees continue reproduction. So
archeologists find the place which has banana nuts tree to dig.

The lecture talks about two methods archaeologists use to correctly identify locations for
archaeological excavation in order to find ancient artifacts. The first method is to use surface
features of the land. For example, excavation sites in New Zealand often have a typical structure,
with giant steps leading to a high hill. The second method is to use plants as an indicator
because certain plants only grow in certain places. For example, banana nut trees were planted
in Central America. These trees continue their reproduction until today, so archeologists find the
place which has banana nut trees for excavation.
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The lecture discusses how companies use slogans in the advertisements to promote the sales
of their products. There are two types of slogans that are often used. The first type of slogan is
called company slogan, which promotes the company as a whole rather than a specific product
of this company. This type of slogan builds up the positive image of the company in customers’
minds, so when customers see or hear this slogan, they will associate good quality or excellent
service with the company. An example is a furniture company which uses the slogan “furniture
that lasts long” to indicate durability of all types of furniture that this company produces, rather
than a specific piece of furniture like table or chair. By contrast, the second type of slogan,
product slogan, is used to promote a specific product or a specific feature of this product. For
example, a company uses the slogan “print as you go” to convey the idea to its customers that
its printers are very small and easy to carry.
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The lecturer discusses how animals ensure that their young babies are successfully hatched
from eggs. The key is to keep the egg sufficiently moisturized because this ensures the healthy
growth of young babies inside the egg.There are two possible ways for animals to maintain
adequate levels of moisture in the egg, but in different ways. The first way is for animals to lay
their eggs directly in the water. A typical example of this is the frog, which directly lays its eggs
in the water, so the eggs are sufficiently moisturized. But in case the animal does not live in or
near water, another way is for animals to use a special part of their body or a mechanism as a
moisturizer. Snakes provide a good example of this. They lay eggs in a small bag that contains
a moderate amount of water so that the snake hatchlings can be moisturized. That's why snakes
can lay their eggs virtually anywhere, even in very dry places.
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The lecture talks about how anthropologists determine what kind of diet ancient people had.
There are two ways to do so. The first is by studying works of art like paintings and drawings of
ancient artists. For example, the study of an ancient Egyptian mural painting has revealed that
people at that time had [food hame?] as a food. The other way is to study the remnants of seeds
left by ancient people. For example, a pottery container was retrieved from underground which
contained remnants of seeds. These seeds later proved to be those of a very popular type of
wheat in ancient France.

http://item.taobao.com/item.htm?id=21092095168 +



22

(b 5 St a) [F 284538 G55 (alarm signal). WfE5: 1, call. 240N, 5
Ky, G5R—FE, HABRRUTRE, BEIEEREEEMmAERIE. 2, th¥E5. 1 (salmon) &
JHIT 5 bR R S B ORTE 2 2Kk 2415 5 (chemical substance)

The lecture talks about how animals communicate alarm signals to other members of the same
species. There are two types of signals. The first type is an alarm call. For example, when a bird
encounters an approaching danger, it would cry out loudly to warn other birds nearby about this
danger. Receivers of this call would immediately seek shelter against the predator. The second
type of signal is a chemical signal. For example, when the salmon detects a hazard under the
water, its skin would release a chemical substance with a unique smell that serves as a message
to other salmons that there is danger around so they could escape.
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The lecture talks about two adaptations developed by trees to protect themselves from a forest
fire. The first adaptation is the ability to cool down its inner part. For example, the birch tree has
a thick bark, which acts like a shield against the fire and an insulation to the inside of the tree.
So when a fire causes the surrounding temperature to rise, the water and nutritional contents
inside the tree are not lost. The second adaptation is removing parts that might easily catch fire.
For example, the pine tree frequently shakes off its small branches to keep the fire from climbing
on to the main branch.
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